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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

{ 9 1l

D 12 8

E 17 16

F 14 19

G 8
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Number of female doctors is more than the average number of female doctors (taking all seven cities together)
in exactly cities.
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1[Option ID=25101] Question Description : general_paper_genarel paper_set 13_english_q1
2[Option ID=25102]
3[Option ID=25103]
4[Option ID=25104]
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QBID:13201002
The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them 1s 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%o}
g Doctors (%) Female Doctors (%2)

A 19 24

B 21 16

o 9 il

D 12 3

E 17 16

F 14 19

G 8
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A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G 8 6

In which of the following cities is the number of male doctors less than the number of female doctors?
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(1) 1
(2) 2
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25105] Question Description : general_paper_genarel paper_set 13_english_q2
2[Option ID=25106]

3[Option ID=25107]
4[Option ID=25108]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8
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A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G 8§ 6
In city A, the number of female doctors 1s % of the number of male doctors.
1. 90
2.96
3. 04
4. 80
1) 1
2) 2
(3) 3
4) 4
e¥ A H wigar Ribwe! o1 We gy Risds! o g & %% |
1.90
2.96
3.64
4. 80
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25109] Question Description : general_paper_genarel paper_set 13_english_q3
2[Option ID=25110]
3[Option ID=25111]
4[Option ID=25112]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8
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E 17 16
F 14 19
G B 6

What is the difference between the average number of male doctors of cities A, B and C together and the
average number of male doctors of cities E, F and G together?

.48
.50
54
.56
(1 1
2 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25113] Question Description : general_paper_genarel paper_set 13_english_q4
2[Option ID=25114]

3[Option ID=25115]
4[Option ID=25116]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8
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A 19 24
B 21 16
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What is the ratio of the number of female doctors in eity D to the number of male doctors in City B?

1.2:5
2. 1:5
3.3:5
4, 4:7
1) 1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25117] Question Description : general_paper_genarel paper_set 13_english_q5
2[Option ID=25118]

3[Option ID=25119]
4[Option ID=25120]
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Given below are two statements:

Statement-I : In learning, law of multiple response means an individual responds to a new situation on the
basis of the responses made by him in similar situations in the past.

Statement-II: In learning. law of analogy implies when an individual is confronted with a new situation, he
responds in a variety of ways before arriving at the correct response.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Staterment I is true but Statement II is false.
. Statement I is false but Statement IT is true.
1 1
2) 2
(3) 3
(4) 4
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4, FUF 1 A B, AP S 1 T B
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=25121] Question Description : general_paper_genarel paper_set 13_english_q6
2[Option ID=25122]

3[Option ID=25123]
4[Option ID=25124]

Sl. No.7
QBID:13201007

In ASSURE model of learning, ABCD stands for well-stated learning objectives. What does 'C' stands for?

. Conditioner
. Conditions
. Creativity

. Confusion
(1) 1

(2) 2

3) 3

(4) 4

SHIETH & URAR Uiaey O TEiIS] g-aftld e & Soxdl &1 H9u® ¢ | 384 I [aa1 g ¢ :
1. SR
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3. fepufedict
4. PHGA
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25125] Question Description : general_paper_genarel paper_set 13_english_q7
2[Option ID=25126]

3[Option ID=25127]
4[Option ID=25128]

Sl. No.8
QBID:13201008

The field of study concerned with the construction of thought processes, including remembering, problem
solving and decision-making is called:

. Cognitive development
. Pedagogy

. Epistemology

. Connectivism

(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=25129] Question Description : general_paper_genarel paper_set 13_english_q8
2[Option ID=25130]
3[Option ID=25131]
4[Option ID=25132]

Sl. No.9
QBID:13201009

Given below are two statements:

Statement-I: The current SWAYAM platform has been developed by Ministry of Education and IIT, Delhi.
Statement-IT: SWAYAM is designed to achieve the five cardinal principles of education.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
2) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25133] Question Description : general_paper_genarel paper_set 13_english_q9
2[Option ID=25134]
3[Option ID=25135]
4[Option ID=25136]

Sl. No.10
QBID:13201010

Match List I with List IT :

LISTI
(Channels of SWAYAM (Subjiﬁg{_ere -
Prabha)
, o Social Science-3, Management, Library
A Chagnel 03 I |science, Information Science and related
" [PRABODH : P
subjects.
B Channel 04 - 1 Social science-1, Social and Behavioural
" |SAARASWAT " |sciences
C Channel 05 - 1 Social science-4, Law, Legal studies,
" PEABANDHAN " [Human rights and related subjects.
D Channel 06 : v Social science-2. Education, Psychology,
"~ [VIDHIK " [Home science and related subjects.

Choose the correct answer from the options given below:

. AL, B-IV, C-I, D-III
. A-IV, B-I, C-II, D-III
. A-IV, B-II, C-III, D-I
. AT, B-II, C-IV, D-I
1) 1
(2) 2
3) 3
(4) 4
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. A-IL, B-IV, C-I, D-III
. A-IV, B-I, C-II, D-IIT
. A-IV, B-II, C-III, D-I
. A-IIL, B-IL, C-IV, D-I
11
(2) 2
(3) 3
(4) 4
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1[Option ID=25137] Question Description : general_paper_genarel paper_set 13_english_q10
2[Option ID=25138]
3[Option ID=25139]
4[Option ID=25140]

Sl. No.11
QBID:13201011

One of the commonly used abbreviations in report writing by researchers is 'vide' which means.

. refer to

. example
. after

. against

P R

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25141] Question Description : general_paper_genarel paper_set 13_english_q11
2[Option ID=25142]
3[Option ID=25143]
4[Option ID=25144]
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Given below are two statements:

Statement-I: Non-parametric tests are often more efficient compared to tests of significance or parametric
tests.

Statement-IT: Non-parametric tests can be applicable to ordinal or nominal scale data.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

3) 3

(4) 4
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4, FYF 1 A B, TP A 1 T B
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25145] Question Description : general_paper_genarel paper_set 13_english_q12
2[Option ID=25146]

3[Option ID=25147]
4[Option ID=25148]

Sl. No.13
QBID:13201013

Given below are two statements:
Statement-I: Ethical violations occur when researchers engage in plagiarism or falsifying data.

Statement-IT: A researcher cannot cite a well known and established fact without providing citation
(reference). otherwise it will be termed as unethical.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true,
(1) 1
(2) 2
3) 3
(4) 4
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4. YT A B, TP PUT 1 TA B
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25149] Question Description : general_paper_genarel paper_set 13_english_q13
2[Option ID=25150]

3[Option ID=25151]
4[Option ID=25152]

Sl. No.14
QBID:13201014

An approach to research in which the investigator creates an environment similar to one of interest in order to
study behaviours in a realistic way. refers to:

1. Naturalistic observation
2. Simulation
3. Longitudinal research
4. Correlational research
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25153] Question Description : general_paper_genarel paper_set 13_english_q14
2[Option ID=25154]
3[Option ID=25155]
4[Option ID=25156]
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Identify the rules that you would follow while designing questions for a questionnaire.

A. Avoid ambiguous terms in questions.
B. Avoid long questions.

C. Ask some leading questions.

D. Avoid double-barrelled questions.

E. Avoid very specific questions.

Choose the correct answer from the options given below:

A.Band C only
.B.Cand D only
. A, Band D only
.B. C and E only
(1) 1
(2) 2
(3) 3
(4) 4
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1. HAd A, B3R C
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11
) 2
3) 3
(4) 4
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1[Option ID=25157] Question Description : general_paper_genarel paper_set 13_english_q15
2[Option ID=25158]
3[Option ID=25159]
4[Option ID=25160]

Sl. No.16
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The Shannon and Weaver mathematical model of communication was based on a linear system of:

1. Print communication
2. Electronic communication
3. New communication
4, Traditional communication
(1) 1
2) 2
3) 3
(4) 4
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1. EU gER
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4. TRRATT TER
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=25161] Question Description : general_paper_genarel paper_set 13_english_q16
2[Option ID=25162]
3[Option ID=25163]
4[Option ID=25164]

Sl. No.17
QBID:13201017

Real time communication media are known as:

. Vertical media

. Asynchronous media
. Synchronous media

. Grapevine media

R T O

1 1
) 2
3) 3
(4) 4

frgd eIy Y9 ATH Sedld & -

1. JeaER H1H
2. HGIA® H1eIH
3. JHSIcID HIe0H
4. SHYATE T1H
1
(2) 2
(3) 3
(4) 4

1[Option ID=25165] Question Description : general_paper_genarel paper_set 13_english_q17
2[Option ID=25166]
3[Option ID=25167]
4[Option ID=25168]
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QBID:13201018

The simplified communication model created by Wilbur Schramm initially had the elements of :

A. An encoding source

B. A noise breaker

C. A noise marker

D. A message for transmission

E. A decoder to decode the message.

Choose the correct answer from the options given below:

A.B, Conly
.B.C,D only
.C.D, E only
.A,D.E only
(1) 1
2) 2
(3) 3
(4) 4
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1[Option ID=25169] Question Description : general_paper_genarel paper_set 13_english_q18
2[Option ID=25170]
3[Option ID=25171]
4[Option ID=25172]

Sl. No.19
QBID:13201019

Which of the following are referred to as net ideologists?

A. Harold Innis

B. Marshall McLuhan
C. Algore

D. Nicholas Negroponte
E. Manuel Castells

Choose the correct answer from the options given below:

A.B. Conly
.B. C. D only
.C.D, E only
.A.D.E only
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25173] Question Description : general_paper_genarel paper_set 13_english_q19
2[Option ID=25174]
3[Option ID=25175]
4[Option ID=25176]

Sl. No.20
QBID:13201020

Given below are two statements:

Staterment-I: New communication media have made the privatization of public spaces possible.
Statement-IT: The above tendency has led to the emergence of cvber sphere in the world.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement [ and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25177] Question Description : general_paper_genarel paper_set 13_english_q20
2[Option ID=25178]
3[Option ID=25179]
4[Option ID=25180]

Sl. No.21
QBID:13201021

A man lends out an amount of Rs.25,000 into two parts. The first part of the money is lent out at 8% simple
interest and the second part of the money is lent out at 8.5% simple interest. If total annual income of the man
18 R.2031.25, then find how much money is lent out at the rate of 8.5% ?

Rs. 9,000
Rs. 15,000
Rs. 18,750
Rs. 6,250

LD

(1) 1
(2) 2
3) 3
(4) 4




Pl fad 25,000 UL HI YR P <l B H IUR AT | &R & Ued fex Dl 8% P IR AT
B IR R IR YRR F IR TR B 8.5% S TYRUI TS P1 X R IR fGmonar € | o afdg =t
P dId 317 2031.25 TAU G dl 8.5% BI &2 U SR Al 741 ¢RI 1A DI |

. 9000 ¥UU
. 15000 %94
. 18750 %94
. 6250 ¥UU
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25181]
2[Option ID=25182]
3[Option ID=25183]
4[Option ID=25184]

Question Description : general_paper_genarel paper_set 13_english_q21

Sl. No.22
QBID:13201022

In a certain coded language the word MEDICINE is called as: EOJDJEFM. How the word COMPUTER will
be coded in the same coded language?

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
1
) 2
(3) 3
(4) 4

B T o

fep it Higd Boag

Y191 & MEDICINE &I EOIDJEFM & 30 8 $eaS [bal Sl § | 7§ COMPUTER

Vg B I UHR I HeaG HI o arcll U H H Heas (gl S ?

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
11
(2) 2
(3) 3
(4) 4

[

=L

1[Option ID=25185]
2[Option ID=25186]
3[Option ID=25187]
4[Option ID=25188]

Question Description : general_paper_genarel paper_set 13_english_q22

Sl. No.23
QBID:13201023

The sum of first n even natural numbers is 1560. Find the value of n.

B R
[ I O I I
oo D MDD o

(1) 1
(2) 2
(3) 3
(4) 4




TYUH 1 TH WG ae ATl &1 TIHd 1560 § | o 1 HF J1d ST |

1.41
2.39
.40
.38
11
) 2
3) 3
(4) 4

e VY

1[Option ID=25189] Question Description : general_paper_genarel paper_set 13_english_q23
2[Option ID=25190]
3[Option ID=25191]
4[Option ID=25192]

Sl. No.24
QBID:13201024

In a two digit number, if it is known that the digit at the unit's place in the number exceeds the digit at the ten's
place by 2 and that the product of the given number and the sum of the digits of the number is 280. Find the

number.

24
46
35
53

b B

= W

1) 1
(2) 2
3) 3
(4) 4

ol & 3@ B! S 1, I 6 T1d & 1 SPls & R B Gl agls U S I@dT 4 of 3@ § iRl
Tl ERET SR G S & Sidhl & TN I U 280 8, d1 a8 Sl J1d BT |

24
46
.35
53

Forka

:L‘.Ln

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25193] Question Description : general_paper_genarel paper_set 13_english_q24
2[Option ID=25194]

3[Option ID=25195]
4[Option ID=25196]

Sl. No.25
QBID:13201025

Sum of the cost price of two articles A and B is Rs.26,000. Both the articles are sold at a profit of 20% and
40%, respectively. However, the selling price of the two articles remains the same. Find the difference in the

cost price of A and B.

Rs. 2,500
Rs. 2,000
Rs. 1,000
Rs. 3,000

R

1) 1
(2) 2
3) 3
(4) 4




&l aegsfl A 3R B & QNTd T BT A 26000 TUU 8 | HI G531 &1 PHRL: 20% 3R 40% & 1y W &4l
mag,mﬁﬁwﬁmﬁﬁwﬁm% | A 3R B & TN ged § 3R 1 [1d BT |

. 2500 YU
2000 39U
. 1000 YT
. 3000 YT
1) 1
) 2
(3) 3
4) a

L

1[Option ID=25197] Question Description : general_paper_genarel paper_set 13_english_q25
2[Option ID=25198]
3[Option ID=25199]
4[Option ID=25200]

Sl. No.26
QBID:13201026

An informal fallacy where something is assumed as a fact because the contrary of that is not yet proven to be
true is called:

. Begging the question
Appeal to Ignorance

. Complex Question

. Red Herring

1 1

(2) 2

3) 3

(4) 4

TS FTHING 3, ofet ot I &1 U 9 & 39 8 5111 911 & adife 391 [auiig o 9% I8! fie
Tel G &, S| &1 el Al § ?

SIHTHTAT

RSP gfad
. BAuH

4.¥s 8l (Red Herring)
(1) 1
(2) 2
3) 3
(4) 4

b =

e Taa

L

1[Option ID=25201] Question Description : general_paper_genarel paper_set 13_english_q26
2[Option ID=25202]
3[Option ID=25203]
4[Option ID=25204]

Sl. No.27
QBID:13201027

Which of the following propositions are logically equivalent?

A. Some men are arrogant human beings.

B. Some non-arrogant human beings are not non-men.
C. Some men are not non-arrogant human beings.

D. Some arrogant human beings are men.

Choose the most appropriate answer from the options given below:

.B and D only
A and C only
. A, Band C only
A, Cand D only

1) 1
(2) 2

B




(3) 3
(4) 4

fafarad § 9 S vl dfee 9 8§ 99de § 2

A 7T TG E |

?ﬁwwhwaﬁ%
c @Wﬁ?%ﬂv‘rﬁ TR |
D. D% PRI AT BUE |

4 fau e faeedl # ¥ gad Iugad SR &1 99 Bifoie:

1.%Hdd B AR D
2. FaAA3MRC
3. PAAA, B AR C
4. HATA, C ARD

1) 1

@ 2

3) 3

(4) 4

1[Option ID=25205] Question Description : general_paper_genarel paper_set 13_english_q27
2[Option ID=25206]
3[Option ID=25207]
4[Option ID=25208]

Sl. No.28
QBID:13201028

If the statement 'some cricketers are fast bowlers' is given as false then which of the following statements
could be immediately inferred to be false?

All ericketers are fast bowlers.

No cricketers are fast bowlers.

Some cricketers are not fast bowlers.

Some non-fast bowlers are not non-cricketers.

R

(1) 1
(2) 2
(3) 3
(4) 4

I ST HY - T fbdpe ATt A Tea & &1 Tad & =9 § femn mar § O FafefEa 3 3 fa wue
& TAd G DI dleb1ieie U 4 A a1 o 9l § 2

1. g1ff fpahe faarst 9o Tigai @ |
2. 315 off fpdpe st oo Heaw 7l © |
3. P b fAAS] 09 figaa 51 § |
4, PT IR-A Tear IR-hde A 781 & |
1) 1
) 2
3) 3
(4) 4

1[Option ID=25209] Question Description : general_paper_genarel paper_set 13_english_q28
2[Option ID=25210]
3[Option ID=25211]
4[Option ID=25212]

Sl. No.29
QBID:13201029




Which of the following statements are so related that they cannot both be true, although both may be false?

A. All sports persons are athletes.

B. No sports persons are athletes.

C. Some sports persons are athletes.

D. Some sports persons are not athletes.

Choose the most appropriate answer from the options given below:

.Aand B only
. Cand D only
.Aand D only
. B and C only
1 1
2) 2
(3) 3
(4) 4

fFofafad ¥ 9 o T Sy 59 0e Iafid ¢ {6 3 2F1 9ol 761 81 9%d, gaid =i 7od 8l IPd & 2

A i faars! vydiica § |

B. @i it faaet vydiic 781 ¢ |
. o faamst tudie § |

D. $© faars! tydie 781 § |

= feu e faoodl & 9 99 Sugad SR S 999 ST

B

1[Option ID=25213] Question Description : general_paper_genarel paper_set 13_english_q29
2[Option ID=25214]
3[Option ID=25215]
4[Option ID=25216]

Sl. No.30
QBID:13201030

According to classical Indian school of logic (Nyaya) which of the following steps of inference (anumana)
corresponds to Upanaya (application of the universal concomitance to the presented case)?

1. Socrates is mortal.
2. Because he i3 a man.
3. Whoever is a man is a mortal, e.g. Plato.
4. Socrates iz a man who is invariably a mortal.
1) 1
(2) 2
3) 3
(4) 4

YR YA TR 0 (M) & HHR FHH &1 HafiEd ¥ 3 =41 =0 3UT (W (67 1Y
T & Ui SoyIHS Fgafid &1 ST & 98 2

1. GBI AT |

2. i a8 A9 § |

3. 51 PIg HI H90 B, 98 1R . O - Wil |

4. gHId U 099§, ol FRUAIG SO ARG |
1) 1
2 2




(3) 3
(4) 4

1[Option ID=25217] Question Description : general_paper_genarel paper_set 13_english_q30
2[Option ID=25218]
3[Option ID=25219]
4[Option ID=25220]

Sl. No.31
QBID:13201031

In ICT. which one of the following pairs of acronyms and its expansion is incompatible?

.csv - Comma Separated Variables
1tf - Rich Text Format

.pdf - Portable Document Format

png - Portable Network Graphics

B R

1 1
) 2
3) 3
(4) 4

St Frofefad # 9 oiH-a7 ufkaul 3R SU% TR &1 gm sRimd & 2

csv - DBIH YIS dRUEE
1tf - A 2o BRae

a . VRN
pdf - Jicqd STagHe BIRHT

.png-mwm

da L b2

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=25221] Question Description : general_paper_genarel paper_set 13_english_q31
2[Option ID=25222]

3[Option ID=25223]
4[Option ID=25224]

Sl. No.32
QBID:13201032

Identify the correct order of the words A-D given below to complete the following sentences about College
Registration Systems: 1s a type of registration system that uses finger prints or retina scans to register
students. A type of registration that uses a form that has been completed with a pencil and is then scanned by a
machine after being completed is called registration. A tag that uses microchips and radio signals worn
by all students that registers them when they enter the classroom is called registration. are made
of plastic and contain a chip that can be swiped through a machine to register the student.

A. Smart Cards
B. OMR

C. Biometric
D.RFID

Choose the correct answer from the options given below:
1LA,B.D.C
5

.B.C,
DA,
.C,B,

0N e

D
.B
A

e VT

(1) 1
(2) 2
(3) 3
(4) 4




Heldeer-Yeiiad Yol & aR & FafiRad &y @e) ®1 9ol &34 gq 414 13U 7T 5] A-D & Tel
Y B UgA ;

Ui YT &1 U6 WK § ol [aenfial & gofte §q SRIfesTal et e w6 o &1 wanT
Rl © | Uolig 1 US UHR S Ud U BTH &1 39 (501 Sl § o7 Uie 9 9_1 WRI 7™ 8ldl o
SR Ul R O & 918 A9 gRI WA [PaT ol g a1 a8 ol dednd ¢ | U@ o fores i

TT GRT 41T ATghifeT SR ISai faud & UaiT ¥ 9% Ueiig- gidl & old d ®al § Uap 8id &,
T8 Ul dodidic | @IRe® B &1 ol © forad U fag STelt 141 gl § SR ot
faemdt & Usiioe gq o=l & T1e9d ¥ Wigy a1 o 9$di § |

A FE BIS

B. 3THMR
c. 9[EleH
D. IRTHAS Sl

= fou U fasedl © 9§ T61 IR o1 98- Hifere:

W nw
n»o
=l v Hw le)

el Sl
Nowp

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=25225] Question Description : general_paper_genarel paper_set 13_english_q32
2[Option ID=25226]

3[Option ID=25227]
4[Option ID=25228]

Sl. No.33
QBID:13201033

Given below are two statements: (1 KB = 1024 bytes)

Statement-I: 0.2 terabytes (TB) is equal to 204.8 gigabytes (GB)

Statement-II: 1 petabyte (PB) is equal to 2°° bits.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

1)1
(2) 2
(3) 3
(4) 4

e




19 €1 $Y AU Y §: (1 KB = 1024 SI5cH)
YT : 0.2 TIEISE (SIaT), 204.8 THMETSE (Sie) & RER B 6 |
FYTII : 1 Uerarse (diah), 25 feeq & Rar garg |
SR HUA & Hdld |, 41d 30 MU [ddwedl & I Tl IuR &l 904 Sl
1. HYA T 3R 11 3 9 g
2. HYF 1 3R 11 GHT S
3. HYT 1 9d g, Al BY 11 AT 5

4. YT AT 8, Al FUT 1 FA 8
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25229] Question Description : general_paper_genarel paper_set 13_english_q33
2[Option ID=25230]

3[Option ID=25231]
4[Option ID=25232]

Sl. No.34
QBID:13201034

Which of the following statements are true?

A. WWW is a collection of multimedia web pages stored on a website.
B. URLs specify the location of all web pages.
C. Web resources are accessed by Windows Operating System.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A Band C

1) 1

(2) 2

(3) 3

(4) 4

fFafaiEd H-3 YT HE € 2

A Www 5t deage W 9ufgd Aecitiiear 3§ Uoll &1 U6 998 & |
B. URL 9+ 39 Usil o1 sraffufa & fafifey sxare |
C. fdei SfRfeT e Y g TUA W BIa € |

- feu g fawedl 7 € a9 Sugad SR 1 90 HifeE:

1. %ad A 3R B
FadARC
HadB R C
4.A.B3RC
1 1
() 2
(3) 3
(4) 4

LFVRR B

1[Option ID=25233] Question Description : general_paper_genarel paper_set 13_english_q34
2[Option ID=25234]
3[Option ID=25235]
4[Option ID=25236]
|




Sl. No.35
QBID:13201035

Match List I with List IT

LISTI

(Storage Device or LIS'—F I_[
Media) (Description)

Non-volatile memory that can only be read
from and not written to

Optical storage media that allows very high
B_| 85D IT [storage capacity by using blue/violet lazer
technology.

Volatile memory that stores data, programs, and
C_|ROM III. [the parts of the operating system that are
currently in use.

A | Blue-ray disc jH

Device that stores data by controlling the
D |RAM IV, jmovement of electrons within a microchip; there
are no moving parts.

Choose the correct answer from the options given below:

AL B-IV, C-II, D-III
A-III, B-1, C-IV, D-II
A-IVB-ILC-I, D-ITI

A-II, B-IV, C-1, D-III

b =

e L

1) 1
(2) 2
3) 3
(4) 4

el 1 Q1Y g1 11 B BT B -

ST
MR- HAR] ford dae Ugl ol

A I TEw L [l g R 34 R o 187 o
[ |
UHIRID HSRUI (3P dd [Sdi5H)
HIEH ¥ &) dRIciE ToR ddicb]
T U e Sgd SHTU® HSR
&HdT UTtd &l STl g |
R AR Sl gdqH H W
C. ROM I11. [STeT, Ui 3R oRieT e &
HIT BT HSRU B & |
dE Tiad Sff fbdll Agie fsad
e o [PTE S @rfian) fewan F6 &ld

== ' [6. 3 SciagHl @1 71fa & FafEa
@3d §U SIE] &1 T8 Pl & |

= fou 0 fawedl | ¥ gl 3R &1 994 Sifeiu

. A-I, B-IV, C-II, D-IIT
. A1, B-I, C-IV, D-II
. A-IV, B-II, C-I, D-III
. AL, B-IV, C-I, D-III
11
(2) 2
(3) 3
(4) 4

B. |SSD II.

b —

e s

1[Option ID=25237] Question Description : general_paper_genarel paper_set 13_english_q35
2[Option ID=25238]
3[Option ID=25239]
4[Option ID=25240]




Sl. No.36
QBID:13201036

How many national missions are there in the National Action Plan on climate change?

R
MDD ] O

1) 1
(2) 2
(3) 3
(4) 4

SRy URad Sa et AP SR die ¥ fead g iR g

s e
MO @0 0 O

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=25241] Question Description : general_paper_genarel paper_set 13_english_q36
2[Option ID=25242]

3[Option ID=25243]
4[Option ID=25244]

Sl. No.37
QBID:13201037

Given below are two statements:

Statement-I: Hydro chlorofluorocarbons (HCFCs) were introduced as ozone-safe replacement for
chlorofluorocarbons (CFCs)

Statement-IT: Hydro chlorofluorocarbons (HCFCs) do not contribute to green house warming.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II 1s incorrect.
. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

4 Sy feumu §:

FYT 1 : SRS IFARIRRIBTE! (TIHUEH) B FARIGRIBTSH! (FUHH & ol Tad Hioigs] &
U T UK far o |

O

FYF 1 : TS5 FARIKRIPIa (TIHIUH) UISY-1g d19- § S¥eH g1 & ¢ |
SIRITT HYU & 3HTeilep H, 1= fGu Y f[deeul & 4 969 Iugad SR &1 99 HIeIU:
1. FYF 1 3R 11 5T et €1
2. PYA 3R 11 3 TTad &
3. BYT 1 Te! 8. Afdp- HU 11 7T1ad 8l
4. YT 17T0d &, Al DY 11 Tl 8

11




(2) 2

3) 3

(4) 4

1[Option ID=25245] Question Description : general_paper_genarel paper_set 13_english_q37
2[Option ID=25246]

3[Option ID=25247]
4[Option ID=25248]

Sl. No.38
QBID:13201038

Which of the following play a role during formation of photochemical smog?

A. NO, (Nitrogen dioxide)

B. Black Carbon

C. Sun light

D. VOCs (Volatile Organic Compounds)
E. CO (Carbon monoxide)

Choose the correct answer from the options given below:

A, B and C only
A, Cand D only
.A.Dand E only
.B.C,Dand E only
1) 1

() 2

3) 3

(4) 4

BT D YH DIex & &=+ 3 F9 T H foa! UHP1 il § 2

A.NO, (FITSCISH STgHTHES)
B. &1 Pl
C. i &1 uS

D. VOCs (QI9=Nd 9ia i)

E. CO (PTa- THIHTHES)
1= fqu T faeedl & € Ggl 3R &1 9+ Sifoiw:

1. HATA, B AR C
2. HATA, C 3IRD
3. PAd A, D ARE
4. $GAB,C, D 3RE

1

() 2

@) 3

(4) 4

1[Option ID=25249] Question Description : general_paper_genarel paper_set 13_english_q38
2[Option ID=25250]
3[Option ID=25251]
4[Option ID=25252]

Sl. No.39
QBID:13201039

In which of the following types of electricity power plants, turbines are not required?

. Geothermal
. Nuclear

. Hydro

. Solar

(1) 1

(2) 2

(3) 3

(4) 4

i T b




Fafafad O ¥ 59 yoR & [degd Soll 9041 ¥ cralgl &1 siawaddl 76l sl 6 2
1. Ydrdig
BURCH B

g ko

. oldl
1. 9%
(1) 1
) 2
(3) 3
(4) 4

s

1[Option ID=25253] Question Description : general_paper_genarel paper_set 13_english_q39
2[Option ID=25254]
3[Option ID=25255]
4[Option ID=25256]

Sl. No.40
QBID:13201040

Given below are two statements: one is labelled Assertion A and other is labelled as Reason R.

Assertion-A : Rise in water temperature from normal levels, due to thermal pollution, can adversely affect
water quality and aquatic life.

Reason-R : Oxygen solubility in water increases as temperature increases.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R is not correct.
4. A is not correet but R is correct.

1) 1

(2) 2

3) 3

(4) 4

9 3 FY= [T U & U MDY (Assertion A) T T 1 R8T © 1 GHRT 39S PRI (Reason R) &
Fq U

b =

SfHGYH A AT HENUI S DRV STA & AT BT GHID &R Y 961 5dl H1 [Ural R Sty sia
R yfdpd THTa ST IHhal ¢ |

FRUIR : d99H H fg & I oa § efiefioq & gaaiaar 3 gfS gt @ |
SWRIGd B & e H, =i f3u U fdeedl § ¥ 99 Sugdd 9wk &1 99 BT |

. A IR R & T8 € SR R, AT TS R B
AR REHI TE €, AT R, A T TS AT TSI B
. A9El g Afd R 98T 7T B

4 AT T e AR TSI B

1 1
) 2
(3) 3
(4) 4

[

LF¥]

1[Option ID=25257] Question Description : general_paper_genarel paper_set 13_english_q40
2[Option ID=25258]
3[Option ID=25259]
4[Option ID=25260]

Sl. No.41
QBID:13201041




University of Mithila was famous for

A Astronomy

B. Nyaya Sutra

C. Archacology

D. Logical sciences
E. Medicine

Choose the most appropriate answer from the options given below:

.Aand B only
.B and D only
.Aand C only
.D and E only
(1) 1
(2) 2
(3) 3
(4) 4

ferfarer faufaemea fead fag ufdie ur 2

A. @7 fagm

B.Wm
C. XA -
THIRE

D.
E. HTGfasH
- feu g fow el 7 € e Sugad SR 1 90 HifeE:

1. %ad A 3R B
2. Had B 3R D
3. Pad A AR C
4.$aAD ARE

1 1

) 2

@3) 3

(4) 4

[N PV N

1[Option ID=25261] Question Description : general_paper_genarel paper_set 13_english_q41
2[Option ID=25262]
3[Option ID=25263]
4[Option ID=25264]

Sl. No.42
QBID:13201042
By . all Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and

shall aim to have larger student enrolments as per NEP 2020, recommendations.

Bk
h O O Lh

1) 1
(2) 2
(3) 3
(4) 4

ST 121 A, 2020 T 1 71g Sl & AR dF Tyt =R e el (Tas ) &1 a6
g (! Gxur o gRoid §1F1 8 auT f[9eiial & amie ¥ 9gd Sifts gis o3 e |

2035
2030
2040
. 2025

(1) 1

o ke

= W




(2) 2

3) 3

(4) 4

1[Option ID=25265] Question Description : general_paper_genarel paper_set 13_english_q42
2[Option ID=25266]

3[Option ID=25267]
4[Option ID=25268]

Sl. No.43
QBID:13201043

In 1904, who was the moving force behind the enactment of the Indian Universities Act which intended to introduce radical
changes into some of the existing universities in colonial India ?

1. Lord Canning
2. Lord Mountbatten
3. Lord Curzon
4. Lord Linlithgow
1 1
2) 2
(3) 3
(4) 4

ay 1004 § YR« fayfaermem sffan & sftfggs § fFaifed 0 3 o ge IR o forgeT smem
HIIFaRs YRd & $o faemm fayfaemedl  siege uRad- Je-=RIMTd S o7 2

1, A BT
2. @IS Hideded
3. 1S B
4. @re feiferm
1 1
) 2
3) 3
(4) 4

1[Option ID=25269] Question Description : general_paper_genarel paper_set 13_english_q43
2[Option ID=25270]
3[Option ID=25271]
4[Option ID=25272]

Sl. No.44
QBID:13201044

One of the regional centers of UGC is situated in which of the following states?

. Punjab

. Rajasthan
. Orissa

. Assam
(1) 1

(2) 2

(3) 3

(4) 4

fayfaee SMaM M o1 U@ &g o= Faifeaf apurm d fRa e o

EEIC]
TSR
SRR
&

B

O

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25273] Question Description : general_paper_genarel paper_set 13_english_q44
2[Option ID=25274]




3[Option ID=25275]
4[Option ID=25276]

Sl. No.45
QBID:13201045

In 1937, Gandhiji evolved a scheme popularly known as the Wardha Scheme of Basic National Education. In
order to implement the recommendation of Wardha Scheme, a committee was set up under the Chairmanship

of:

. M.K. Gandhi
.B.G. Kher

. Zakir Hussain
A K. Azad
(1) 1

(2) 2

3) 3

(4) 4

Ty 1037 T ST 7 Te Wi [doiaa 31 of 94 W1 5 §R® 130 (e e- & A1 4 [T © |
gyl Wi ot xgfadl & saitaad g Faifed 4 9 feue! siorear § ue 9ifd 1fea &1 s o4t 2

1. TH. &, Tl
2.9 oL W
3. SR g
4. Q. . 3ollg

1) 1

() 2

(3) 3

(4) 4

da L3 b

1[Option ID=25277] Question Description : general_paper_genarel paper_set 13_english_q45
2[Option ID=25278]
3[Option ID=25279]
4[Option ID=25280]

Sl. No.46
QBID:13201046




Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful. most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

frafafad e o ufgd ik Uy &1 3R 2ifor |

TG AR e gH 3= 8 oo ard a1 Wi 9 wmraan foy 3 9ed 1 gmviar, vaifts suiéa
TUE © | WSS = U Widaed aryd & Hariial gR1 sidufed e g7 & go Hafdl & dew
O T I P UT, Tpial, o SR %ch Tgardl 9 i § | fay &1 a1 6000 TRIAT U il
T 5000 TXHTTT WM € ol (9 B Pl SIHGBAT B TRTHT 10 HIa=Td & | 9gd © =11 H, TNIRFTd Siifd-
T, NeguTagut fafirat, siftfet o1 qatae @ wexfioHl &1 emA 5IaT § | 3931 Ry Spfon qa sl §
3R 3% TIY-T1Y WHfae SHae »H & =0 H oia fafaudr 79 8 381 § aifes sielifiea srma & dwrest
1 Ti7 BT QR fh a1 I 9 | IO fay & U1 Spid &1 ool 3 9UId B & SR YRGS Stggiat
HR off fasd=r g1 ot 8

fa% 1 6000 fafRIw yTIaf & 9 S0 § HH el U G 81361 § Fifd ofd gl Bl b1 & gl
fora aTa § | 94 sifon pove goor o st ot 51y § e € S9! O 51 e a1 59t o d-
xpicd 1 1T 37 1 S | 31 G&piadl & U g4 & HIY-H1Y YPid & §R T J- &1 JHE d faga
1SR 3R U@ A1y gufaxur ud shiga<ie &1 e THe +f 99 gl o | st SAe dage e &
g &t wl yrreii 8 § 60 wio=rd U 12 <201 H yged gidl © | 59 9 91d <% T fafdedr ara
SN § STg! THX [afRIp UTey Ud Sl 3T o8 9§ iftie yefadl § | 9ga 9 fafiy yeifadl & sHgd
Sefam FruieRt aRkiRifda aar 3u 3§ faydargf amd T & e 5 1 geme wdid erdt 8
|

The most appropriate title for the passage is:

. State of the indigenous world

. Biodiversity conservation measures

. Indigenous people and world's biodiversity
. Empowerment of indigenous people.

(1) 1

(2) 2

(3) 3

(4) 4

S T FT Haled 39gad e ¢ :

B R

1. SIS OFTd B Saxl
2. g fafgedr 9em & 3u™
3. WMo 3R afiy® oig fafgeran
4. Wi P IRl
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25281] Question Description : general_paper_genarel paper_set 13_english_q46
2[Option ID=25282]




3[Option ID=25283]
4[Option ID=25284]

Sl. No.47
QBID:13201047

Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, diseriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

fgfafad Teiw & ufed ik Uy &1 3T ifor |

g SR e F 4= O oo Fard g1 @l o g fay 3 96l n gviaH, galite 3uiéd
Hﬂﬁ%"iuwﬁmmﬁmﬁmﬁm%ﬁmﬁﬁm%ﬁﬁ%%@ﬁmﬁ@%m
&mﬁﬁﬂﬁuﬂﬂw e, o R %1 THEH] 9 9 § | fay &1 T4 6000 ARG TG il

¥ 5000 Tpfoat Wi € O fay 3 Fa T BT WY 10 AW § | 95 ¥ S 8, TWIRFTd 9fd-
w1, YEHTayu fafeai, et a1 gaius & Wexiier &1 g0 gid1 ¢ | 379! a1y S%piayl g 81 38! &
3R IS YT WP Teich STa I & &0 § ofd fafaear 79 8 381 & a1 o swrd & Sy
1 1T &I 93 a1 &1 9 | 9E fay § uryie Sepfd &1 doll 9 UHd Bad & SR URGRS sitaqdl
3R ofi faed 2 81 Tl & |

fa% 1 6000 ARy 1rwraf 7 3 &1 I HH 31eh UMY faqa 61361 & T oi@ =i ol 511 & 78l
faan SIra § | 51| Sifcd Fod gae of sinfl oft 58 uTe1 I dicid § S9! O] 51 oe il df 59! aa-
G@%ﬁlﬁﬁﬁmmm | 31 G il & YU - & WIY-H1Y Yohid & &R § I &1 J5< d faga
SR 3R Ue faf2y yaiexur vd shiga=idt ®1 Te THs 1 gard o ot | i oe qu us e &
aHa & Gt umrsii # 9 60 Ufcrrd U 12 S=0  Ugad gid ¢ | 50 4 1d o o fafasar ard
%X § wo! 9Aw fafy U1ey uﬁaﬂaﬁaﬁ&ﬂﬁ#&@ﬁwﬁ?ﬁ% | S5 I fafry wenfadl & srga
Safdes gHZeRT uRkiRufaal g9 w9 ¥ fafguargul amdia sfa & faem o o ggre udid gl §
|

Given below are two statements:

Statement-I: Majority of indigenous cultures are confined to a very few countries of the world.
Statement-IT: Majority of world population consists of indigenous people.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4, Statement I is false but Statement II is true

(1) 1

(2) 2

(3) 3

(4) 4




TR A FyE Ry

FYF1; S50 Ul WaZl HD gl (94 & FoD o db ol AMa o |

HY 11 : oy Bt aifiieie oriem W a3 g |

SRIF DY & ATadid H, Al (U T fdeedl & I "5l 3R &1 90 iU
1. HYA 1 SR G T g
2. Y1 IR I A 3T B

3. BYT 1 T §, AP HYT 11 ST B

4. YT 1 ATI , Aldpd BYT 11 FA B
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=25285] Question Description : general_paper_genarel paper_set 13_english_q47
2[Option ID=25286]

3[Option ID=25287]
4[Option ID=25288]

Sl. No.48
QBID:13201048 _
Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

Fafatag Ty 3 ufed iR Uy &1 39R 2o |

T AR e gH1 3= ° ga fard a1 weeh o amraaa fay 3 9ed 1 guiar, gaifts suiéa
g © | IS =4 ¥ Widaed aga & Rarital gR1 siftuied 6 & & ga Haid! & 93w
3O SR P LT UTST, o, o SIR et e 9 P € | fay &1 @ 6000 Tl WIS S5 it
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3R G HIY-H1Y WP T STy I & U § g [afdedr 49 81 81 & s SNeiRiigd STd & e
@1 HiT B QR fohal ol 9 | TEEd fay & U1aTe SRgid &1 doll 3 WHId Bhad & SRUI URURS sta-2iat
IR ot faed=r g1 ot © |

fas 1 6000 fofR1w yrrefl H & &0 4 &9 sneh yoTd faq g1 %! § Fife o o= &I g1 e gt
foa1 SITan § | 51| SifdH Fo® gao off sifl oft 53 uTeT I e § S9! 5] 51 og il df 9! oia-
a@‘%ﬁriﬁmﬁm | 31 Il & AT 81 & HIY-T UPHid & SR H J1 &1 T4 d faga
18R 3R Ue fafy gafexur ud siiaeiel &1 e Tasr W gared 8 ot | i oe qa us e &
Ara Bt Tt st & ¥ 60 Hferra v 12 30 H wyed Sl © | 58 9 9 3 fawne fafgear
S0 ¢ Sigl 9H [afRIy ure Ud Sl BT ond § offte yenfodl § | 9ga | fafkiy yeifadl & sega
Sefaer g uRkiRufa g9 vu § ffqedrgul arda Saia & fdem 8 o geme wdid gid €
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Indigenous people live in harmony with nature.

Reason R: Biodiversity tends to thrive at places where indigenous cultures thrive.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

(1) 1

(2) 2

3) 3

(4) 4

9 &1 %Y [T U §: U @Y (Assertion A) & =0 H [i1RGd g T GHRI 3HP BRUI (Reason R) &
IUT:

ko =

e L

BT A : SIS TN @I & T HIgTe SAPRIEA § |

HRUIR : o RIFT T S SXpiaai Badl-Hadi ¢ gl old [dfaydl & §d §¢- (I79) B FHTE 5l
gl

SR $YH & alie 4, 744U T faeedl & 3 walfie Sugad SR &1 994 Sife |

A IRRIATTUE SRR ADI IS TRAT

. A MR R EH A€, Afh R, A S Ig! e 1ol ¢
 ATI T AfFIR ST

A FTI g AGIR I B

1

2 2

@) 3

(4) 4

B T R o
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful. most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

frafafad e o ufgd ik Uy &1 3R 2ifor |

TG AR e gH 3= 8 oo ard a1 Wi 9 wmraan foy 3 9ed 1 gmviar, vaifts suiéa
TUE © | WSS = U Widaed aryd & Hariial gR1 sidufed e g7 & go Hafdl & dew
O T I P UT, Tpial, o SR %ch Tgardl 9 i § | fay &1 a1 6000 TRIAT U il
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1 Ti7 BT QR fh a1 I 9 | IO fay & U1 Spid &1 ool 3 9UId B & SR YRGS Stggiat
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fa% 1 6000 fafRIw yTIaf & 9 S0 § HH el U G 81361 § Fifd ofd gl Bl b1 & gl
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SN § STg! THX [afRIp UTey Ud Sl 3T o8 9§ iftie yefadl § | 9ga 9 fafiy yeifadl & sHgd
Sefam FruieRt aRkiRifda aar 3u 3§ faydargf amd T & e 5 1 geme wdid erdt 8
|

Which among the following inferences can be drawn from the passage?

A. Indigenous people in rich countries are generally neglected and their voices remain unheard.
B. Native people in the poor countries are quite powerful.

C. Most of the world population belongs to indigenous cultures.

D. Indigenous people possess unique cultures

E. Indigenous cultures are facing a threat from western culture.

Choose the most appropriate answer from the options given below:

1.A,B,C,Dand E
2.A.C.Dand E only
3.A,Dand E only
4.B.C,D and E only

1) 1

) 2

(3) 3

(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

Fafatag Ty 3 ufed iR Uy &1 39R 2o |

T AR e gH1 3= ° ga fard a1 weeh o amraaa fay 3 9ed 1 guiar, gaifts suiéa
g © | IS =4 ¥ Widaed aga & Rarital gR1 siftuied 6 & & ga Haid! & 93w
3O SR P LT UTST, o, o SIR et e 9 P € | fay &1 @ 6000 Tl WIS S5 it
% 5000 Tepfai W § ol oy &1 P ST T T 10 HRIE © | g & 271 3, TORAT wife-
W, YeuTayqui faferai, siftfe] a1 gafus 3 We=iieHl &1 gH- i § | 83! ARy Safadl @ 81 sl &
3R G HIY-H1Y WP T STy I & U § g [afdedr 49 81 81 & s SNeiRiigd STd & e
@1 HiT B QR fohal ol 9 | TEEd fay & U1aTe SRgid &1 doll 3 WHId Bhad & SRUI URURS sta-2iat
IR ot faed=r g1 ot © |

fas 1 6000 fofR1w yrrefl H & &0 4 &9 sneh yoTd faq g1 %! § Fife o o= &I g1 e gt
foa1 SITan § | 51| SifdH Fo® gao off sifl oft 53 uTeT I e § S9! 5] 51 og il df 9! oia-
a@‘%ﬁriﬁmﬁm | 31 Il & AT 81 & HIY-T UPHid & SR H J1 &1 T4 d faga
18R 3R Ue fafy gafexur ud siiaeiel &1 e Tasr W gared 8 ot | i oe qa us e &
Ara Bt Tt st & ¥ 60 Hferra v 12 30 H wyed Sl © | 58 9 9 3 fawne fafgear
S0 ¢ Sigl 9H [afRIy ure Ud Sl BT ond § offte yenfodl § | 9ga | fafkiy yeifadl & sega
Sefaer g uRkiRufa g9 vu § ffqedrgul arda Saia & fdem 8 o geme wdid gid €
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Western culture supports indigenous people and their traditional ways of life.

Reason R: Indigenous people possess ecological wisdom about their natural habitat.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A s correct but R is not correct.
4. A is not correct but R is correct.
(1) 1
(2) 2
3) 3
(4) 4

9 &1 %Y [T U §: U @Y (Assertion A) & =0 H [i1RGd g T GHRI 3HP BRUI (Reason R) &
IUT:

B YA A - GILH TPl <=1 A1l BT 3R 3901 URURS Siiasrell BT U= BT ¢ |
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1. A3RR A TeI € 3IRR, AT TS A gl
2. A 3R R S 8 €, AfFT R, A DT UE o TR &
3. Ael g A1 R 91 75l o

L AT TS R AfFT R TE R
(1)1
() 2
3) 3
(4) 4
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4[Option ID=25300]

Paper II : 79-Visual Art (including Drawing & Painting/Sculpture Graphics/Applied Art/History of
Art)

Sl. No.1
QBID:179001

The Process based On mutual autipathy of water and grease is called .....

. Viscosity

. Xerography
. Lithography
. Serigraphy

R

1 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24701] Question Description : visual_arts_visul arts_set 1_english_q1
2[Option ID=24702]

3[Option ID=24703]
4[Option ID=24704]

Sl. No.2
QBID:179002

Indian Printmaker working in the Robert Black burn Print Studio in the USA.

. Vijay Kumar

. Dakoji Devraj
. Tara Sabrawal
. Jaya Kumar
1) 1

(2) 2

3) 3

(4) 4

U YR BT [IESR S guyt H 6 i o+ e sl § S g |

. BT I6l GarTs
. ORI gavard
SOHHR

B R

O R o A

1) 1

(2) 2

3) 3

4) 4

1[Option ID=24705] Question Description : visual_arts_visul arts_set 1_english_q2
2[Option ID=24706]

3[Option ID=24707]
4[Option ID=24708]

Sl. No.3
QBID:179003

The first ever engraving by an Indian was engraved for the book in year 1816....

. Sangeet Taranga

. Bhagabat Geeta

. Gods and Goddesses of Grece
. Oonoodah Mongol

1) 1

(2) 2

(3) 3

(4) 4

U% HRAT §RT &1 715 TAfAT, ¥ 1816 B 5 Txa® & (ot I 0l &1 7% |
1. G T
2. HITad T
3. U & <d ud <faai
4. 38 HITE (TS HITQ)
11
) 2
(3) 3
(4) 4
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Sl. No.4
QBID:179004

"Pop art' movement emerged from which Country.... ?

. France

. United States of America
. Germany

. Britain

1) 1

(2) 2

(3) 3

(4) 4

g 31E g &1 vigHia e S A gan o

1. %1
E.EW&@W
3.
4. fdc

(1) 1

(2) 2

3) 3
(4) 4
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1[Option ID=24713] Question Description : visual_arts_visul arts_set 1_english_q4
2[Option ID=24714]
3[Option ID=24715]
4[Option ID=24716]

Sl. No.5
QBID:179005

The term 'Bijinga’ in Japanese "UKIYQ-E' Prints is known for .....

1. Prints of Beautiful women
2. Prints of Sumo wrestlers
3. Prints of Birds and insects
4, Prints of Kabuki Actors

1 1

2) 2

(3) 3

(4) 4

SIS giedl-g fiie H a9 2 fod & fey S S s 2

1. GEERA Hfgemsii & f=aom
2. oI YgaraH] & ==
3. Fafsal wd @iel & fmm
4. PIgR] Uael & =0
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24717] Question Description : visual_arts_visul arts_set 1_english_q5
2[Option ID=24718]

3[Option ID=24719]
4[Option ID=24720]

Sl. No.6
QBID:179006

The Period of Didarganj Yakshi was :

. Maurya
. Shunga

. Kushana
. Gupta

11

i L b




(2) 2
3) 3
(4) 4

Sfarrs anell of arafe of:

1. A
2. 71
3. PIT
4.7

11

) 2

(3) 3

4) 4

1[Option ID=24721] Question Description : visual_arts_visul arts_set 1_english_q6
2[Option ID=24722]
3[Option ID=24723]
4[Option ID=24724]

Sl. No.7
QBID:179007

Balbir Singh Katt was the student of

1. Ramkinkar Baij
2. K. G. Subramaniarr
3. Raghav Kaneria
4. Pradosh Das Gupta
(1) 1
2) 2
(3) 3
(4) 4
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.Sl geay
. T9d HARAT

R AR
(1) 1

(2) 2

3) 3

4) 4
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1[Option ID=24725] Question Description : visual_arts_visul arts_set 1_english_q7
2[Option ID=24726]
3[Option ID=24727]
4[Option ID=24728]

Sl. No.8
QBID:179008

Which one of the following sculptor has been awarded Padmrshree.

1. Ravindra Reddy
2. Rajendra Tikkun
3. Vipin Goswami
4. Avatar Singh Panwar
1 1
(2) 2
(3) 3
(4) 4
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2. 3ol feap

3. faft= Tt
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(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=24729] Question Description : visual_arts_visul arts_set 1_english_q8
2[Option ID=24730]

3[Option ID=24731]
4[Option ID=24732]

Sl. No.9
QBID:179009

Which Indian sculptor was famous for oxidized copper sculptures.

. K. Dakshinamoorty
. Raghav Kaneria

. Meera Mukherjee

. P. V. Jankiramana
(1) 1

(2) 2

3) 3

(4) 4

B I YR JdeR 307 slifdasigers diad qidal & fau uikrg 2:

1. . SfEomfd
2. ITHd SRl
3. TR1 gt
4. 4i.dl SFeREA
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=24733] Question Description : visual_arts_visul arts_set 1_english_q9
2[Option ID=24734]
3[Option ID=24735]
4[Option ID=24736]

Sl. No.10
QBID:179010

An eminent architect has lately chosen mural, Painting and stone scupture to express his ideas.

. Satish Gujral

. Hafeej Contractor
. Hansmukh Patel

. B. V. Doshi

(1) 1

(2) 2

3) 3

(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24737] Question Description : visual_arts_visul arts_set 1_english_q10
2[Option ID=24738]

3[Option ID=24739]
4[Option ID=24740]

Sl. No.11
QBID:179011

"The Gates of Hell" - (1880-1917) was created by whom ?

1. Donatello
2. Auguste Rodin
3. Lorenzo Ghiberti
4. Peter Paul Rubens
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=24741] Question Description : visual_arts_visul arts_set 1_english_q11
2[Option ID=24742]
3[Option ID=24743]
4[Option ID=24744]

Sl. No.12
QBID:179012

The Logo of FTI ( Film and Television institute of India) was designed by which of the following graphic
Designers?

. Sudarshan Dheer

. 8. M. Shah

. Yashwant Chaudhary
. Jeram Patel

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=24745] Question Description : visual_arts_visul arts_set 1_english_q12
2[Option ID=24746]




3[Option ID=24747]
4[Option ID=24748]

Sl. No.13
QBID:179013

The famous poster of pears Soap made use of painting titled 'Bubbles' made by

. Tolouse Lautrec
. Cheret

. Jules caxton

. Millais

1 1

2) 2

(3) 3

(4) 4

da e b
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1[Option ID=24749] Question Description : visual_arts_visul arts_set 1_english_q13
2[Option ID=24750]
3[Option ID=24751]
4[Option ID=24752]

Sl. No.14
QBID:179014

Benjamin Franklin published advertisement for the first time on the masthead of :

. Pennsylavania Gazette
. The New York Times

. London Times

. The Time Magazine

b2 =

L

1) 1
(2) 2
3) 3
(4) 4
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L T5 gy
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(1)1

2 2

3) 3

(4) 4

B I S I

1[Option ID=24753] Question Description : visual_arts_visul arts_set 1_english_q14
2[Option ID=24754]
3[Option ID=24755]
4[Option ID=24756]

Sl. No.15
QBID:179015




The first advertising agency in USA was opened in :

. 1845
. 1839
. 1870
1841
(1) 1
(2) 2
(3) 3
(4) 4

UL H FauH R0 9= o= e g o ;

. 1845
. 1839
. 1870
. 1841
(1) 1
(2) 2
(3) 3
(4) 4

R
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1[Option ID=24757] Question Description : visual_arts_visul arts_set 1_english_q15
2[Option ID=24758]
3[Option ID=24759]
4[Option ID=24760]

Sl. No.16
QBID:179016

Inlate 19® C. England, the art movement inspired from William Morris that had a great impact on design was

1. Arts and Crafts Movement
2. Pointillism
3. Impressionism
4. None of these
1) 1
) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=24761] Question Description : visual_arts_visul arts_set 1_english_q16
2[Option ID=24762]
3[Option ID=24763]
4[Option ID=24764]

Sl. No.17
QBID:179017

The famous work 'Dhamyeswari' by Gaganendra Nath Tagore was created in which medium.

. Lithograph

. Water colour
. 01l colour

. Collage

B




1) 1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24765] Question Description : visual_arts_visul arts_set 1_english_q17
2[Option ID=24766]

3[Option ID=24767]
4[Option ID=24768]

Sl. No.18
QBID:179018

Who was the teacher of Amrita Shergill in Ecole des beaux Arts ?

. Picasso

. Lucian Simon
. Henri Matisse
. Fernand Leger

e Lo b2 =

1 1
) 2
(3) 3
(4) 4
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1[Option ID=24769] Question Description : visual_arts_visul arts_set 1_english_q18
2[Option ID=24770]
3[Option ID=24771]
4[Option ID=24772]

Sl. No.19
QBID:179019

Which colour was mostly used in Prehistoric paithings of India ?

. Red ochre
. Chalk

. Black

. Cobalt

OR!
) 2
(3) 3
4) 4

R
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24773] Question Description : visual_arts_visul arts_set 1_english_q19
2[Option ID=24774]

3[Option ID=24775]
4[Option ID=24776]

Sl. No.20
QBID:179020

Which is not a classification of Art by Hegal ?

1. Symbolie
2. Classical
3. Romantic
4. Realistic

(1) 1

(2) 2

3) 3

(4) 4

BT ERT HTAT 1 TNBI0 DI T Tl § 2

1. s
2. qaipa
3. JMFH
4. Rofefes
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24777] Question Description : visual_arts_visul arts_set 1_english_q20
2[Option ID=24778]

3[Option ID=24779]
4[Option ID=24780]

Sl. No.21
QBID:179021

The Philosopher before the plato are called as -

1. Sophist

2. Ion

3. Philebus

4. Insitituto orataria
(1) 1

2) 2

(3) 3

(4) 4

wiel & gd & GX-RITHIE] Bl gl 9l §
1. Hifteee
2.591
3. fotay
4, SEISEl ifean

1)1




(2) 2
(3) 3
(4) 4
1[Option ID=24781]
2[Option ID=24782]

3[Option ID=24783]
4[Option ID=24784]

Question Description : visual_arts_visul arts_set 1_english_q21

Sl. No.22
QBID:179022

. 1947
. 1962
. 1954
. 1975
1) 1
(2) 2
(3) 3
(4) 4

R

. 1947
. 1962
. 1654
. 1975
(1) 1
(2) 2
3) 3
(4) 4

o o=

da L

1[Option ID=24785]
2[Option ID=24786]
3[Option ID=24787]
4[Option ID=24788]

In which year was Lalit kala Academy N. Delhi founded ?

TR Tl SrTeH, 75 el @ e v o &1 778 2

Question Description : visual_arts_visul arts_set 1_english_q22

Sl. No.23
QBID:179023

. Sand casting

R

1)1
(2) 2
(3) 3
4) 4

Docra Casting technique is an example of indigenous .

. Piece mould casting
. Flexibel mould casting
. Lost wax casting

SIoPT PIET dB ! W R HAT BT TP ISEI G -

B P R O R

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24789]
2[Option ID=24790]

3[Option ID=24791]
4[Option ID=24792]

. T ad Hiee DI
. A 9o DI

Question Description : visual_arts_visul arts_set 1_english_q23

SlI. No.24
QBID:179024




Doric, Ionic and corinthian are orders developed in the architecture of which period ?

. Roman

. Byzantine
. Etruscan
. Greek

1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=24793] Question Description : visual_arts_visul arts_set 1_english_q24
2[Option ID=24794]

3[Option ID=24795]
4[Option ID=24796]

Sl. No.25
QBID:179025

Richard Serra, Robert Morris and Lawrence Weiner in 1960s and 70s were related to which art movement ?

. POP art

. Photo realism
. Process Art

. Land Art

(1) 1

(2) 2

(3) 3

(4) 4

S T, Jac Ay Ud G 3R 1960 T4 1970 § [ha a1 & 3iigiad d Safud 9 2

.91q 3
.Wiel afaeH
O 3
1) 1

) 2

3) 3

(4) 4

e L b =
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1[Option ID=24797] Question Description : visual_arts_visul arts_set 1_english_q25
2[Option ID=24798]
3[Option ID=24799]
4[Option ID=24800]

Sl. No.26
QBID:179026

From the following attributes which one is not and iconographic feature of Surya ?

. Lotus
. Horse
. Shoe
. Mace
1) 1
(2) 2

ba =

e L




(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24801] Question Description : visual_arts_visul arts_set 1_english_q26
2[Option ID=24802]

3[Option ID=24803]
4[Option ID=24804]

Sl. No.27
QBID:179027

Bagh caves are Located in which State ?

1. Karnataka

2. Maharastra

3. Madhya Pradesh
4. West Bengal

1[Option ID=24805] Question Description : visual_arts_visul arts_set 1_english_q27
2[Option ID=24806]
3[Option ID=24807]
4[Option ID=24808]

Sl. No.28
QBID:179028

Ishtar Gate from Babylon, IRAQ is restored and displayed in which city.

1. Berlin
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24809] Question Description : visual_arts_visul arts_set 1_english_q28
2[Option ID=24810]

3[Option ID=24811]
4[Option ID=24812]

Sl. No.29
QBID:179029

Any Flat couour printed as a solid and Not made of CMYK is called :

. Complementry
. Spot Colour
Arcylic

. Key colour

o =

= W

1) 1
(2) 2
3) 3
(4) 4

T VTS CMYK ¥ 7 &1 81 U6 U% 319, I9I¢ T &0 H S oY, 39 Fed o :

1. foRiuTeaT®
. Tle BeR
1. Bl R
(1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=24813] Question Description : visual_arts_visul arts_set 1_english_q29
2[Option ID=24814]
3[Option ID=24815]
4[Option ID=24816]

Sl. No.30
QBID:179030

An imagery created with different dot patterns, when viewed through naked eye, 1s called-

. Duo-tone

. Monochrome
. Offset

. Half tone

(1) 1

() 2

3) 3

(4) 4

T 3l g Sl o Fe arell Ul ©fd, o o fag el 9 Fala gl S8 @ed 6 -

1. gal A
2. HHIBH
3. ATHde
1. BB TH

1) 1
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(2) 2

3) 3

(4) 4

1[Option ID=24817] Question Description : visual_arts_visul arts_set 1_english_q30
2[Option ID=24818]

3[Option ID=24819]
4[Option ID=24820]

Sl. No.31
QBID:179031

What is the full form of 'LCD', used for TV screens, computer monitors ete. ?

. Liquid Crystal Display

. Liquid Chrome Display

. Low Cast Display

. Luminance Crystal Display

da L b =

(1) 1
(2) 2
(3) 3
(4) 4

Eidt T, PIER Aifex 3 3 Ugad Tadis! & g S Y 1§ 2

1. fofes foefea faw
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(2) 2
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4) 4

1[Option ID=24821] Question Description : visual_arts_visul arts_set 1_english_q31
2[Option ID=24822]
3[Option ID=24823]
4[Option ID=24824]

Sl. No.32
QBID:179032

'Kitsch' is closely related to which form of art ?

. Gallery Art

. Minimal Art

. Performing Art

. Mass - Produced Art
1 1

2) 2

(3) 3

(4) 4

Bl P by [Ien § e Todial S d Jafia g 2
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1) 1

) 2

3) 3

(4) 4

i L b
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1[Option ID=24825] Question Description : visual_arts_visul arts_set 1_english_q32
2[Option ID=24826]
3[Option ID=24827]
4[Option ID=24828]




Sl. No.33
QBID:179033

Which of the following city is known for the trade and export of metalwork, bead work, shell and ivory work
during Indus valley civilization.

. Mohenjodaro
. Lothal

. Bhimbetka

. Kalibangan

R

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=24829] Question Description : visual_arts_visul arts_set 1_english_q33
2[Option ID=24830]
3[Option ID=24831]
4[Option ID=24832]

Sl. No.34
QBID:179034

Razm Nama is a Persian Translation of ?

. Ramayana

. Mahabharat

. Panch Trantra
. Nal Damyanti

b2 =

L

1) 1
(2) 2
3) 3
(4) 4

o 1 farget uifoe erae § 2

T

 HETHRA
4. T gHg=

(1) 1

(2) 2

(3) 3

(4) 4

L

1[Option ID=24833] Question Description : visual_arts_visul arts_set 1_english_q34
2[Option ID=24834]
3[Option ID=24835]
4[Option ID=24836]

Sl. No.35
QBID:179035




Which is not a Jatak story ?

. Hans

. Sutradhar

. Vidur Pandit
. Mandhata
(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=24837] Question Description : visual_arts_visul arts_set 1_english_q35
2[Option ID=24838]

3[Option ID=24839]
4[Option ID=24840]

Sl. No.36
QBID:179036

"Mata ni Pachedi' 1s made on :

1. Leather
2. Plaster
3. Paper
4. Cloth

(1) 1

(2) 2

3) 3

(4) 4

AT &1 el [68 W g1 widi g 2
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24841] Question Description : visual_arts_visul arts_set 1_english_q36
2[Option ID=24842]

3[Option ID=24843]
4[Option ID=24844]

Sl. No.37
QBID:179037

Which one is the Alloy ?

. Gold

. Bronze
. Copper
. Silver
1) 1

(2) 2

B




(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24845] Question Description : visual_arts_visul arts_set 1_english_q37
2[Option ID=24846]

3[Option ID=24847]
4[Option ID=24848]

Sl. No.38
QBID:179038

Fine Art Printing From a Stone is generally done using.....

1. Granite

2. Marble

3. Sand Stone
4. Lime Stone
1) 1

(2) 2

(3) 3

(4) 4

BT ddl | Tl 9aiT {1 o aral 9oil....
1. U1Ee
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1) 1

2) 2

3) 3
(4) 4
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1[Option ID=24849] Question Description : visual_arts_visul arts_set 1_english_q38
2[Option ID=24850]
3[Option ID=24851]
4[Option ID=24852]

Sl. No.39
QBID:179039

'The Lost Pandit’ intaglio print is created by whom ?

1. Laxma Gaud
2. Anupam Sud
3. Dakoji Devraj
4. Jyoti Bhatt

1 1

(2) 2

3) 3

(4) 4
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1) 1
(2) 2
3) 3
4) 4
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1[Option ID=24853] Question Description : visual_arts_visul arts_set 1_english_q39
2[Option ID=24854]
3[Option ID=24855]
4[Option ID=24856]

Sl. No.40
QBID:179040

Who among the following is known for collography printmaking....

. Jayant Parikh

. Gulam Shaikh

. Jyoti Bhatt

. Vivan Sundaram
(1) 1

(2) 2

3) 3

(4) 4

fofafEa d S on saum! fieafns Ruufis g ...
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1[Option ID=24857] Question Description : visual_arts_visul arts_set 1_english_q40
2[Option ID=24858]
3[Option ID=24859]
4[Option ID=24860]

Sl. No.41
QBID:179041

Select the Tribal art forms from the following :

A. Madhubani
B. Alpana

C. Gond Art
D. Warli Art

Choose the correct answer from the options given below :

.A & B only
"B & C Only
.C &D Only
.B & D Only
(1) 1
(2) 2
3) 3
(4) 4

B
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1. Fad A AR B
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3.%dd C 3R D
4. $aABIRD
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=24861] Question Description : visual_arts_visul arts_set 1_english_q41
2[Option ID=24862]

3[Option ID=24863]
4[Option ID=24864]

Sl. No.42
QBID:179042

Which methods are Non-Aecid print techniques.

A. Dry point

B. Aquatint

C. Wood Engraving
D. Mezzotint

E. Collography

Choose the correct answer from the options given below :

.B. C and D Only
A, Cand E Only
.B.D and E Only
. A, B and C Only
1 1
(2) 2
3) 3
(4) 4

B @ IR-ufs file aeie! $1 ggfogi s -

A.gEUlEe
B. Umlidée
C. g8 34T
D. HulfeT
E. PIAII®]

i f4u Ty fadedl o ¥ Tl 3Tk ©1 949 Bl -

.B.CUdD
.A.CUdE
.B.DUGE
A.BUdC
(1 1
(2) 2
(3) 3
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1[Option ID=24865] Question Description : visual_arts_visul arts_set 1_english_q42
2[Option ID=24866]
3[Option ID=24867]
4[Option ID=24868]

Sl. No.43
QBID:179043

In M. C. Escher's art woks following elements are usually seen explored :

A. Mythology

B. Imposible objects
C. Women's portrait
D. Reptiles

E. War

Choose the most appropriate answer from the options given below :

Aand C Only
. B and C Only
.B and D Only
. Cand E Only
1) 1
(2) 2
3) 3
(4) 4

U At IR B Tl § wrmraa Fafafad ol o o S g
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1) 1
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3) 3
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1[Option ID=24869] Question Description : visual_arts_visul arts_set 1_english_q43
2[Option ID=24870]
3[Option ID=24871]
4[Option ID=24872]

Sl. No.44
QBID:179044

Which prints are the part of pablo Picasso's "Suite Vollard".

A 'Still life under the lamp’

B. 'Minotaur, Drinker and Woman.'
C. Young sculptor at work'

D. 'Baffoon's History Naturale'

E. 'Portait of Vollard, - T'

Choose the correct answer from the options given below :

A, B and E Only
.B.D and E Only
. A, B and D Only
.B. C and E Only

S




1 1
(2) 2
(3) 3
(4) 4
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. A.BUGE
.B.DUGE
LA.BUdD
.B.CUdE
1 1
(2) 2
(3) 3
4) 4
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1[Option ID=24873] Question Description : visual_arts_visul arts_set 1_english_q44
2[Option ID=24874]
3[Option ID=24875]
4[Option ID=24876]

Sl. No.45
QBID:179045

Consider the relations with the Ajanta Caves :

A. They are carved in Granite Stone

B. It is found in volcanic Rocks

C. They are of Hindu, Buddhist and Jain themes

D. Total 29 caves are there

E. Animal and bird figures can be found in these paintings

Choose the correct answer from the options given below :

A.Band C Only
A, C,E Only
.B.D and E Only
.B. C and E Only
1 1

(2) 2

3) 3

(4) 4

ST B TS ¥ TERa §

A. 32 UEC UeR H Sl fpar mar g

B. 5% arargat Ty g

c.d fog, Ao I I defia

D. 981 e 29 TBIY §

E. 3 g1l ¥ ug] ud gigm &1 saladi urg o 9ol &

e feu U fasedl © 9§ el 3R &1 70 Hiforu:

ABUdC
.A,C.TGE
.B.DUTE
.B.CUdE

i S

= Wk =




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24877] Question Description : visual_arts_visul arts_set 1_english_q45
2[Option ID=24878]

3[Option ID=24879]
4[Option ID=24880]

Sl. No.46
QBID:179046

The complete range of colours available wihtin one system of reproduction is called

A, spot gamut

B. RGB Gamut
C. RYB Gamut
D. CMYB Gamut
E. CMYK gamut

Choose the correct answer from the options given below :

Aand B Only
.B and E Only
. Aand D Only
. Aand E Only
1 1
(2) 2
3) 3
(4) 4

foreft U grecafe 31 v & SR Sy T 3t Tof Suft w1 T S §:

A. Hie e (Tw®)

B. 3Roid! THE (H®)
C. 3RaTz4a! 1 (T<®)
D. Hiugarsd! He (@)
E. HiuHarss ¢ (A<®)

e feu U fasedl © 9§ el 3R &1 70 Hiforu:

_ATUGB
.BUJE
LATED
L ATUJE
(11
2 2
(3) 3
4 4

O

da LD b2 —

1[Option ID=24881] Question Description : visual_arts_visul arts_set 1_english_q46
2[Option ID=24882]
3[Option ID=24883]
4[Option ID=24884]

Sl. No.47
QBID:179047




Packaging Design combines following elements of visual Art

AL Art

B. Offset

C. Beauty

D. Weight

E. Aesthetics

Choose the most appropriate answer from the options given below :

A, Band C Only
.B. Cand D Only
. A, Cand E Only
.C.Dand E Only
(1) 1
(2) 2
(3) 3
(4) 4

XY@l & awd o Gt fSeire # afiifed &

A. Dl

B. Apdc
c. gied

D. HR (gui)
E. dicd I

i fqu T faeedt | € el 3R &1 997 Sifoie:

LA, BUdC
.B.CUdD
.A,CUdE
.C.DUGE
1) 1
2 2
3) 3
4) 4

R S

B T R

1[Option ID=24885] Question Description : visual_arts_visul arts_set 1_english_q47
2[Option ID=24886]
3[Option ID=24887]
4[Option ID=24888]

Sl. No.48
QBID:179048

Following type faces are modern style of SERIF FONTS

A. Caslon

B. Bodoni

C. Century
D. Didot

E. Baskerville

Choose the correct answer from the options given below :

A.Band E Only
.Cand E Only
. B and D Only
A, Cand E Only

R

1 1
(2) 2
3) 3
(4) 4




fafRad eEy B, UR® Bicy & A1 Tied & -

i fqu Ty fasedl & T el 3R &1 997 Sifoie:

.A.BUGE
.CUdE
.BUID
.A.CUdE
(1 1

(2 2

(3) 3

4 4

B T o R

1[Option ID=24889] Question Description : visual_arts_visul arts_set 1_english_q48
2[Option ID=24890]
3[Option ID=24891]
4[Option ID=24892]

Sl. No.49
QBID:179049

Which are the lost wax casting ?

A. Ttalian Casting
B. Sand Casting
C. Docra Casting
D. Co, Casting

Choose the most appropriate answer from the options given below :

. Only A and B
.OnlyBand C
.Only Cand D
.Only Aand C
1 1
(2) 2
3) 3
(4) 4

A SE BT HHAE 2
A. Scfaga SIReT
B. 98 BT
C. SIH BIRET
D. Co, IR

i feu U faeedi § 9 98l 3R &1 98- Sifelw:

ATdB
BUdC
CUdD
LATdC
(1 1
2) 2
(3) 3
4) 4

k2 =

e T

e

1[Option ID=24893] Question Description : visual_arts_visul arts_set 1_english_q49




2[Option ID=24894]
3[Option ID=24895]
4[Option ID=24896]

Sl. No.50
QBID:179050

Who among the following have produced remarkable works in Serigraphy print medium.

A. Moti Zharotia
B. Laxma Goud
C. Jyoti Bhatt

D. Krishna Reddy
E. V. Nagdas

Choose the most appropriate answer from the options given below :

Aand C Only
.Band D Only
. Aand D Only
. Cand E Only
1) 1
(2) 2
3) 3
(4) 4

frafaiad =i & 3 fowm St fiie arem 3 oy = o fear m g -

A. It SRIfaan
B. WEAT TS

C. I Hg

D. PO
E. dl. TGN

i feu U fasedl © 9§ T8l 3Tk &1 98- Bifolu:

1.PadATI C
2. HadBUA D
3. HAAATED
4. HAACUGE

1) 1

(2) 2

(3) 3

(4) 4

R

1[Option ID=24897] Question Description : visual_arts_visul arts_set 1_english_q50
2[Option ID=24898]
3[Option ID=24899]
4[Option ID=24900]

Sl. No.51
QBID:179051

The artist who did not recieve formal education of the Subject :

A. Sudhir Patvardhan
B. Gieve Patel

C. Madhavi Parikh
D. F. N. Souza

E.S. H. Raza

Choose the correct answer from the options given below :

A, C&DOnly
.C.D & E Only
.A,B & C Only
.B.D & E Only

11

s L b




(2) 2
3) 3
(4) 4

d HATER FEAET 8 9 SHE 4 § i favg @1 sfiioare fRem 7! o &t 2

A giR geadq
B. Tild ged

C. Tied! g
D. U%.UA. gall
E. TH.UH. XAl

e feu U fasedl © 9§ el 3R &1 70 Hiforu:

1.HATA, C IRD
2. %HadC, D ARE
3.FHadA, B3R C
4.HddB,D ARE
1) 1
(2) 2
3) 3
4) 4
1[Option ID=24901] Question Description : visual_arts_visul arts_set 1_english_q51
2[Option ID=24902]

3[Option ID=24903]
4[Option ID=24904]

Sl. No.52
QBID:179052

Identify Jain Tirthankara

A. Adinath
B. Jagannath
C. Taranath
D. Neminath

Choose the correct answer from the options given below :

_A,C &D Only
A&D Only
.C &D Only

. A Only

(1) 1

(2) 2

(3) 3

(4) 4

o ditdeRl Pl e BIfo:

A, 3ffeAmy
B. SATAY
C. AREY
D. ATy

4 feu e fasedi O 9 9gl 3Tk o1 99 Siferw:

1.HadA, C 3RD
2. %Had A dRD
3

B




(4) 4

1[Option ID=24905] Question Description : visual_arts_visul arts_set 1_english_q52
2[Option ID=24906]
3[Option ID=24907]
4[Option ID=24908]

Sl. No.53
QBID:179053

Andy warhol's works featured

A. Marilyn Monroe
B. Bill Clinton

C. Elvis Presley

D. Donald Tramp

Choose the correct answer from the options given below :

1. A& C Only
2. A, B &D Only
3.A.B & C Only
4.B & D Only

1

(2) 2

(3) 3

(4) 4

TSt aREd B Pladl UG &:

A AR IR
B. fa fakie
C. Ufeas vt
D. SHIES ¢4

i feu Ty fasedt o T el 3R &1 997 Sifoi:

1. Had AR C
2. BT A, B AR D
3. HadA, B3R C
4. HaAB IR D
1) 1
) 2
(3) 3
(4) 4

1[Option ID=24909] Question Description : visual_arts_visul arts_set 1_english_q53
2[Option ID=24910]
3[Option ID=24911]
4[Option ID=24912]

Sl. No.54
QBID:179054

The artifact related to Jomon period in Japan.

A. Flame ware
B. Dogn
C. Dotakh

D. Hamiwa
Choose the correct answer from the options given below :

. B Only

A, C&D Only
.C &D Only

. A& B Only
(1) 1

(2) 2

B




(3) 3
(4) 4

ST H S STd 9§ Hafid dagiodl REkiaa d a9 A d g

A TOHH IR
B.SW

C. 3@
D. gHfar
i fau ¢ famedl & ¥ A6l SR &1 98 Sifog:

1[Option ID=24913] Question Description : visual_arts_visul arts_set 1_english_q54
2[Option ID=24914]
3[Option ID=24915]
4[Option ID=24916]

Sl. No.55
QBID:179055

Shadanga by Yashodhara talks about

A. Rupabheda

B. Prana

C. Bhava

D. Lavanya yojana

Choose the correct answer from the options given below :

.A&D Only
.B.C & D Only
LA, C&D Only
. D Only

1) 1

(2) 2

3) 3

(4) 4

AR Ha wsi Hafiiad § 9 fod favg = fear-fonl 4 9afia g -

A =OHE

B. W07

C. H1d

D. d1aug gis1

= feu U fasedl © 9§ Tl 3R &1 98- Hiforw:

1.FHad A IRD
2. &HAAB, C AR D
3.%Had A, C 3R D
4.Had D

1 1

() 2

3) 3

(4) 4

O




1[Option ID=24917] Question Description : visual_arts_visul arts_set 1_english_q55
2[Option ID=24918]
3[Option ID=24919]
4[Option ID=24920]

Sl. No.56
QBID:179056

Painters also known for Installation

A. Bikas Bhattacharjee
B. Ved Nayar

C. Vivan Sundaram

D. Ganesh Pyne

Choose the correct answer from the options given below :

1. Aand B Only
2.B. Cand D Only
3.A,Band C Only
4. B and C Only

1) 1

) 2

(3) 3

(4) 4

Frafafed @ § oH 9 REeR SiUgE & forg off 9 ord &
A. [P yerErS

B. dg AR
c. faar gazm
D. 70 T2

i feu U fasedl © 9§ Tl 3Tk &1 98- Bifolu:

1. &ad A IR B
2.$adB, C AR D
3. PAAA, B3R C
4. HaaB IR C
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24921] Question Description : visual_arts_visul arts_set 1_english_q56
2[Option ID=24922]

3[Option ID=24923]
4[Option ID=24924]

Sl. No.57
QBID:179057

Who were the chairman of Lalit Kala Akademi New Delhi

A. Sankho Chandhury
B. Dhan Raj Bhagat
C. R. B. Bhaskaran
D. Rathin Mitra

Choose the correct answer from the options given below :

.Aand B Only
Aand C Only
.Aand D Only
.B and D Only
1) 1
) 2
(3) 3

O




4) 4
qferd Hal A@HeH & Ay FuRg g I s afag ¥
A @ et
B. YRS T

C. AREL YA
D. 3feA =

i feu Ty fasedt o T el 3R &1 997 Sifoi:

1[Option ID=24925] Question Description : visual_arts_visul arts_set 1_english_q57
2[Option ID=24926]
3[Option ID=24927]
4[Option ID=24928]

Sl. No.58
QBID:179058

Sculptors mainly known for stone sculpture

A. Ramesh Pateria
B. V. R. Khajuria
C. Chintamoni Kar
D. Nagji Patel

E. P. Chandravinod

Choose the correct answer from the options given below :

A.Band D Only
.B.Cand D Only
.C.D and E Only
. A, B and E Only
(1) 1
(2) 2
(3) 3
(4) 4

Frafarad o 9 SH 9 gider urm gidied /g & o &

A. Y R
B. dl.3(R. @[l
c. FamEir &
D. AFTSl 9¢d

E. Ul. 9xfd-e

4 feu e faeedi © 9 9el 3Tk o1 99 Siferw:

1.FAAA.BIARD
2.%HadAB, C 3R D
3. %ad C, D IARE
4. H3T A, B3IRE

1 1

) 2

3) 3

(4) 4

i e




1[Option ID=24929] Question Description : visual_arts_visul arts_set 1_english_q58
2[Option ID=24930]
3[Option ID=24931]
4[Option ID=24932]

Sl. No.59
QBID:179059

Following cities have National Gallery of modern Art

A. Ahmedabad
B. Chennai

C. Mumbai

D. Delhi

E. Banglore
Choose the correct answer from the options given below :

1.A.B & C Only
2.B.C &D Only
.C.D & E Only
.B.D, & E Only
1 1
(2) 2
3) 3
4) 4

frafaiad & 4 fot 2e”l | gt snyfe S fad (T2 e 3 Al o) 8 -

A HeHaldlg
B. 995
c. ga%
D. fewt
E. §7TAR

=i feu U fawedl | ¥ el 3R &1 994 Sifo:

1.Had A, BARC
2.%ad B, C AR D
3.%adC, D 3IRE
4. HddB,D 3R E

1) 1

2 2

3) 3

(4) 4

=

1[Option ID=24933] Question Description : visual_arts_visul arts_set 1_english_q59
2[Option ID=24934]
3[Option ID=24935]
4[Option ID=24936]

Sl. No.60
QBID:179060

Identify the Ad Gurus from the following

A. Raghu Rai
B. Piyush Pandey

C. Alyque Padamsee
D.R. K. Laxman

Choose the correct answer from the options given below :

. Aand D Only
. B and C Only
.Cand D Only
.Band D Only

11

B




(2) 2
3) 3
(4) 4

fFrafafaa & ¥ faqmes (gs) Tesi @ fafed ST

A.TRA

B. Uiy Urusy
C. & v
D. 3R 3. T&H

= feg e fawedi & € 96l SR @1 904 Fifvw:

1. %ad A 3R D
2. HAAB IR C
3. %ad C AR D
4. $ad B 3R D

1 1

() 2

3) 3

(4) 4

1[Option ID=24937] Question Description : visual_arts_visul arts_set 1_english_q60
2[Option ID=24938]
3[Option ID=24939]
4[Option ID=24940]

Sl. No.61
QBID:179061

Identify 'Analogus colour Scheme' from the following :

A. Yellow, Yellow Orange, Orange
B. Yellow, Yellow Blue, Green

C. Blue, Blue Purple, Black

D. Yello Orange, Orange, Red

Choose the correct answer from the options given below :

. Aand B Only
A.Band D Only
. Aand C Only

. Aand D Only
(1) 1

) 2

(3) 3

(4) 4

fofafag § ¥ ga=g T gier & ffa oifon -

B. Uia, gl e, g2
C. =ita, <t &, Prar
D. U@ AR, AR, 79

= feu U fasedl © 9 Tl 3R &1 99 Hifele:

1.%ad A 3R B
2. HAd A, BARD
3. Fad AR C
4. Had A ARD

1

() 2

3) 3

(4) 4

B




1[Option ID=24941] Question Description : visual_arts_visul arts_set 1_english_q61
2[Option ID=24942]
3[Option ID=24943]
4[Option ID=24944]

Sl. No.62
QBID:179062

Who among the following famous film industry people had also received formal education in Art School.

A. Subhash Ghai
B. Amol Palekar
C. Iftikar Khan

D. Nana Patekar
E. Johny Walkar

Choose the correct answer from the options given below :

A. D and E Only
.B. C and D Only
.C.D and E Only
. Aand E Only
1) 1

(2) 2

3) 3

(4) 4

firem oTa & Frafafad uftng @t 5 3 o oo faemem 3 +f simanfyes e &1 8 2

A YUY IS

B. 3HId Uldidx
C. siaeR |@H
D. AFI 9I¢dhR
E. A1 aTdhR

i fau ¢ famedl & ¥ Ael SR &1 98- Sifoig:

R

1[Option ID=24945] Question Description : visual_arts_visul arts_set 1_english_q62
2[Option ID=24946]
3[Option ID=24947]
4[Option ID=24948]

Sl. No.63
QBID:179063

Print makers who also work in three dimentional relief and round sealpture.

A. Luxma Gaud

B. Somnath Hore
C. Deepak Banerjee
D. P. D. Dhumal

Choose the correct answer from the options given below :

1.D and C Only
2.Band C Only
3. Aand B Only
4.D and A Only

1 1




(2) 2
3) 3
(4) 4

frafetad 7 ¥ foo fiie ied 7 BemmH Redl® vd a9 gidaw & a3 7 Hi o feare 2

A. TS

B. JIHAIU SR
C. 9@ i
D. U3t ¢mr

4 feu U faeedi O 9 9gl 3R &1 99 Siferw:

1.$aaD 3R C
2. HAAB AR C
3. Had A AR B
4.H3AD AR A

(1)1

2) 2

(3) 3

(4) 4

1[Option ID=24949] Question Description : visual_arts_visul arts_set 1_english_q63
2[Option ID=24950]
3[Option ID=24951]
4[Option ID=24952]

Sl. No.64
QBID:179064

The Indian philosophers who have done works on aesthetics

A. Prem Chandra

B. Dr. Kantichandra Pandey

C. Dr. Surendera Nath Dasgupt
D. Panch Pagesh Shastri

E. Mahadevi Verma

Choose the correct answer from the options given below :

A,D & E Only
.B.C & D Only
.C.D &E Only
.B.D & C Only
1)1
(2) 2
3) 3
(4) 4

ity IR g $- ard YR eiHe Fefaf@a d a9 aa 38 2

A UTEE

B. B1. Pifdg 4Usy
C. BT 5T SR
D. Ud WSy Il

E. qgTgdt a|f

= feg e fawedi & € 9l SR o1 90 P

ko=

SN F]




(3) 3
(4) 4

1[Option ID=24953] Question Description : visual_arts_visul arts_set 1_english_q64
2[Option ID=24954]
3[Option ID=24955]
4[Option ID=24956]

Sl. No.65
QBID:179065

Satish Gujral Was known as

A, Writer
B. Painter
C. Sculptor
D. Architect
E. Vocalist

Choose the correct answer from the options given below :

A,B & D Only
.B.C &D Only
.B.C & E Only
.C.D & E Only
1 1
(2) 2
3) 3
(4) 4

IR ToRIE 1 49 &0 I S Srar o -
A TED

B. E®R
C. gfdeR
D. AEPR
E. &

i fau e fam gt & € Fel Sk &1 98- Sifv:

1.$AAA,B3IRD
2. $ad B, C AR D
3.%dd B, C ARE
4.%HadC, D IRE

1 1

) 2

3) 3

(4) 4

da L b

1[Option ID=24957] Question Description : visual_arts_visul arts_set 1_english_q65
2[Option ID=24958]
3[Option ID=24959]
4[Option ID=24960]

Sl. No.66
QBID:179066




Match List I with List IT

LISTI LIST IT
A, [Frodph et Y (M
Labour
B. [Banyan Tree II. Ramkinker Bay
. s D_P.
C. [Dancing Girl III. Roychondhory
D

Yaksha Yakshmi | IV, [Nagyi Patel

Choose the correct answer from the options given below:

1. AL, B-III, C-IV, D-II
2. A-I, B-I, C-IV, D-IIT
3. AL, B-IV, C-1, D-II
4. A-IV, B-III, C-II, D-I

(1) 1

2) 2

(3) 3

4) a

el 1o 1Y g1 11 ¥ e Sty

T 1 Tt 11

A [eTER HIB TER L Higaseal
B. [gHdl@Tcde) | 11 RED®H 9
c. [SfmTa . [31d7. Jmaiesy
D. [g& Ti&mh IV. [FTTel gew

FafdRad [dPpedi H 9 Tl 3R &1 999 HIIT :

1. A1, B-III, C-IV, D-II
2. AL, B-IL, C-IV, D-III
3. A-IIL, B-IV, C-1, D-II
4.A

.IV, B-III, C-II, D-I

1[Option ID=24961] Question Description : visual_arts_visul arts_set 1_english_q66
2[Option ID=24962]
3[Option ID=24963]
4[Option ID=24964]

Sl. No.67
QBID:179067

Match List I with List IT

LISTI LIST IT
A |Bankura I. |Dhokra
B. |Bastar II. |Patachitra
C. |Kalighat ITT. |Terracotta
D. [Varanasi IV. |Wooden Toys

Choose the correct answer from the options given below:

. A-I, B-II, C-IV, D-III
. AL, B-I, C-II, D-IV
. A-IV, B-III, C-I, D-II
. AL, B-I, C-IL, D-IV
1) 1
(2) 2
(3) 3
(4) 4

k=

=L




et 1 p &1 = 11§ e i

1 T 1

A [Ei@gx L [l

B [@&R I [gefm

C. [@reiture I [oaid

D. [JRTORET IV. [ddsl & NEaaH
4t fau 7T faeedl § ¥ 9El SR &1 90 SIfolu -
1. A-I, B-IL, C-IV, D-III

2. A-IL, B-1, C-IL, D-IV

3. A-IV, B-III, C-I, D-II
4. A1, B-I, C-II, D-IV
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24965] Question Description : visual_arts_visul arts_set 1_english_q67
2[Option ID=24966]
3[Option ID=24967]
4[Option ID=24968]

Sl. No.68
QBID:179068

Match List I with List IT

LIST1I LISTII
a [ombe Mo I [Heiwrich Woifflin
[.aocoon
& [nciplesiobia IL [Emst Gomberich
History
C. [Vision & Difference | I |Clement Greenberg
D. [The Story of Art IV, |Griselda Pollock

Choose the correct answer from the options given below:

1. A-IIL, B-II, C-IV, D-I
2. A-IV, B-II, C-I, D-IIT

3. A-IIL, B-I, C-IV, D-II
4. A1, B-IIL, C-IIL, D-IV
1) 1
(2) 2
3) 3
(4) 4
=it 1 b &1 = 11 7 i Sifeie
il I
A [CIEUURTPT | 1 [gAR® dichd
B. %@tié SE e n |afe MiEe
C. [[Au-us femey 1. [aeif< dHe
D. &Rl 3H 3T V. O uas
i<l feu U famedl § 9 981 3TR &1 994 PIfu -
1. AL, B-II, C-IV, D-I
2. A-IV, B-II, C-1, D-III
3. A-IIL, B-I, C-IV, D-II
4. A1, B-IL, C-III, D-IV
11
(2) 2

(3) 3




(4) 4

1[Option ID=24969] Question Description : visual_arts_visul arts_set 1_english_q68
2[Option ID=24970]
3[Option ID=24971]
4[Option ID=24972]

Sl. No.69
QBID:179069

Match List I with List IT

LISTI LIST II
A, |kebana I |Theater
B. [Kabuk: II. |[Flower decoration
C. [Kimono IT1. |Peotry
D. [Haiku IV. |Costume

Choose the correct answer from the options given below:

. A-IV, B-II, C-I, D-III
. A, B-IV, C-1, D-II
A-II, B-TII, C-TV, D-I
. AL, B-I, C-IV, D-III
11
(2) 2
(3) 3
(4) 4

il 13 1Y =1 11 1 FHR Bifere

e I

T I T 11
A [EHdH L [EEg
B. [@E®d! I [ 3fAdul
C. [faAH! . [Pigar
D [eE® IV, [grHul

= feu o fawedl § © 9al SO’ &1 994 Sl

. A-IV, B-II, C-I, D-III
AL, B-IV, C-1, D-II
. A-IL, B-II, C-IV, D-I
. AL, B-I, C-IV, D-III
11
() 2
(3) 3
(4) 4

-lh!.n_h.}l—t

1[Option ID=24973] Question Description : visual_arts_visul arts_set 1_english_q69
2[Option ID=24974]
3[Option ID=24975]
4[Option ID=24976]

Sl. No.70
QBID:179070




Match List I with List IT

LISTI LISTII
A EHaeps I 'Alla.h_ Series’ -
Intaglio
B. Anupam Sud II. [Grey city' - Ethching
C. PevvyniKrishna | I |Fomewards - Wood
D. [Zarina IV. [Of Walls' - Ethching

Choose the correct answer from the options given below:

. AL, B-I, C-IV, D-III
. AL, B-IV, C-1, D-II
. A-IV, B-III, C-II, D-I
. AL, B-IIL, C-IV, D-I
11
(2) 2
(3) 3
(4) 4

el 1 1Y gt 11 D [Hr Sifeg

T 1 Tt 11

309 9a L[ - uim
G . [3HdIgY - 48 ¢
SRl V. [3® died - T

i feu U fasegl § 9 9el 3R &1 99 Hifei -

. AL B-I, C-IV, D-III
. A, B-IV, C-1, D-II
. A-IV, B-III, C-II, D-I
. A-IL, B-IL, C-IV, D-I
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=24977] Question Description : visual_arts_visul arts_set 1_english_q70
2[Option ID=24978]
3[Option ID=24979]
4[Option ID=24980]

Sl. No.71
QBID:179071

Match List I with List IT

LISTI LIST IT
A |Lime Stone I [Linolium
B. [Plotter if; [Ethchms/
Engraving
C. [Relief 111 [Digital
D. |Copper plate IV, [Lithography

Choose the correct answer from the options given below:

. A, B-I, C-IL, D-IV
. AL, B-IV, C-III, D-I
. A-IV, B-III, C-1, D-II
. A-IL, B-III, C-IV, D-I
1
(2) 2

o B




(3) 3

(@) 4
Gl 1 91 Gl 11 DT {7 Bifore
T 1 T 11
A [EATTRR L |ieHied
B. [@rex I [oRf1/ I@vdd
C. [Rdiw . [i&feea
D. [dld @I &ie Wl GRIPIE

i faU 71U fasbedl § 9 gt 3R &l 90+ BHIfT -

1. A-ITI, B-1, C-II, D-IV
2. A-11, B-1IV, C-II1, D-I
3. A-1IV, B-1II, C-1, D-II
4. A-1L. B-III, C-IV, D-I
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=24981] Question Description : visual_arts_visul arts_set 1_english_q71
2[Option ID=24982]

3[Option ID=24983]
4[Option ID=24984]

Sl. No.72
QBID:179072

Match List I with List IT

LISTI LIST II
A [Impressionism I |Optical Illusion
B. [Dadaism fi, [Bresccs
icubiques
C. |OP At ITI. |School of eys
D [Cubism IV [Rocking Horse

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I
2. AL, B-1V, C-1, D-III
A-III, B-IV, C-1, D-II
. A-IV, B-I, C-II, D-III
1) 1
(2) 2
3) 3
(4) 4

=W




=it 1 <p &1 G 11 BT e Sifee

T 1 Tt 11
A EERl e | L %@E‘W
B. [qRE@EEE) | I m
C. |affT o IIL. %&ﬁmaﬂgﬂ@a
D. [Hfeed (garg) V. Rifd g=

- feu e famedt 7 € Het SR &1 98- S -

. A-IV, B-III, C-II, D-I
. AL, B-IV, C-I, D-III
. AT, B-IV, C-1, D-II
. A-IV. B-I, C-II, D-III
11
() 2
(3) 3
(4) 4

R R

1[Option ID=24985] Question Description : visual_arts_visul arts_set 1_english_q72
2[Option ID=24986]
3[Option ID=24987]
4[Option ID=24988]

Sl. No.73
QBID:179073

Match List I with List IT

LISTI LIST I1
. I [Brahmachari
Subramanivam
B. [Ram Kinkar Bay II. [Purvapalli Series
Bikash -
c ekt ITI. |Santhal family

D. |Amirta Sher Gill IV. [Doll series

Choose the correct answer from the options given below:

1. A-II, B-1V, C-II, D-1I
2. A-IL, B-IIL, C-IV, D-I
3. A-II, B-IIL, C-I, D-IV
4. A1V, B-II, C-I, D-III
1 1
) 2
(3) 3
@) 4
il 1 & It 11 1 [He DI
Gl g I
A oo ol geHvay B CEER]
B. RHfd® s 11 [gducch RIS
C. ["@™ vz 1. [gurd Bl
D. [3HqdI IR V. [Sid fERis
Hifer fau U f[ds el § O 9t Tk &1 994 Biforl -
1. A-II1, B-1V, C-II, D-I
2. A-IL, B-I1, C-IV, D-I

. AL, B-III, C-I, DIV
. A-IV, B-II, C-I, D-III

1) 1

e Lo




(2) 2

(3) 3

(4) 4

1[Option ID=24989] Question Description : visual_arts_visul arts_set 1_english_q73
2[Option ID=24990]

3[Option ID=24991]
4[Option ID=24992]

Sl. No.74
QBID:179074

Match List I with List IT

LISTI LISTII
A |Photoshop I Multimedia
B. |After Effects II. [UI&UX
C. |Coreldraw III. [Raster
D XD IV. [Vector

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-III, D-I
2. A-IV, B-II, C-III, D-I
3. A-IV, B-II, C-IV, D-II
4. A1, B-III, C-IV, D-II

11

(2) 2

(3) 3

(4) 4

el 1 1Y Gl 11 DT FHer Hifeg

T 1 Tt 11
A [BIEENT I [HEmiiEm
B. [T ghae 11 [gaiy 3R guad
C. [PRasl M. R
D. [@&g 3l IV [@ae

= fou o fawedl 5 T gl SOk &1 994 Sl

1. AL, B-IV, C-III, D-I
2. A-IV, B-II, C-III, D-I
3. A-IIL, B-I, C-IV, D-II
4. A1, B-III, C-IV, D-II

11

(2) 2

(3) 3

(4) 4

1[Option ID=24993] Question Description : visual_arts_visul arts_set 1_english_q74
2[Option ID=24994]
3[Option ID=24995]
4[Option ID=24996]

Sl. No.75
QBID:179075




Match List I with List IT

LISTI LIST 1
A [Blue 1. [ntellect, lovalitv
B Red L Knowledge,
Luxury
C. |Grey II1. [Vitality, Courage
D. |Orange IV, Maturnty, Patience

Choose the correct answer from the options given below:

. AL, B-IV, C-IL D-I
. A-I, B-III, C-IV, D-II
. AL, B-I, C-III, D-IV
. A-IV, B-II, C-I, D-IIT
11
) 2
(3) 3
(4) 4

el 1o 1Y I 11 DT Fe Hifee

O N

g 1 I

A Hien L |gfg Hmr

B. [dd I [§M, faarraarn

c [ M |3HSTRar, ey

D. [ V. [gfgmar, &
= feu v fawedl 6 © 9al 3O’ &1 994 Hifelu

1. A-IIL B-IV, C-II, D-I

2. A1, B-III, C-IV, D-II

3. A-II, B-I, C-IIL, D-IV
4. AV, B-IL, C-I1, D-III
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24997] Question Description : visual_arts_visul arts_set 1_english_q75
2[Option ID=24998]
3[Option ID=24999]
4[Option ID=25000]

Sl. No.76
QBID:179076

Select the correct sequence of Layout process

A. Comprehensive
B. Thumbnail

C. Mechanical

D. Rough

Choose the correct answer from the options given below :

1A D0
2.B.D,A,C
3.D,B.A, C
4.C,D.B.A

11

(2) 2

(3) 3

(4) 4




3T e Uihdl & ol ohH &1 90 D

A BIERRG
B. Y&

C. OFpad
D.I%

i 4T T fasedl & U gl SR &1 94 Bifolt -

1[Option ID=25001] Question Description : visual_arts_visul arts_set 1_english_q76
2[Option ID=25002]
3[Option ID=25003]
4[Option ID=25004]

Sl. No.77
QBID:179077

Choose the correct chronological sequence of the printing processes as per their invention

A. Laser

B. Screen

C. Letter Press
D. Offset

Choose the correct answer from the options given below :

b —
wo N
o 0w

FOWO
o0

a2

1 1
) 2
(3) 3
(4) 4

fOfén ufsharsil & @il & 38R 95! 90 B |

i fqu Ty fadedl o U Il SR ©1 949 Bl -

DLEAB

B,A,C,D
3.6 B.BA
4.A.D,B.C

1

(2) 2

3) 3

(4) 4

ks =

1[Option ID=25005] Question Description : visual_arts_visul arts_set 1_english_q77
2[Option ID=25006]
3[Option ID=25007]
4[Option ID=25008]




Sl. No.78
QBID:179078

Select the process of creating a painting

A. Drawing
B. Painting
C. Sizing

D. Priming
E. Framing

Choose the correct answer from the options given below :

1.A.B.D.C.E
2.B,A,C.DE
3.E.C.D,A,B
4.C,D.A.B.E
11
) 2
(3) 3
(4) 4

U g9 31 ulchar &1 994 $3 |

A GiH BT
B. Uf¢rr &A1
C. gfoiT

D. YIS iHT

E. IO

= feu e fawed & @ dt SR @1 90 Fifsu -

1.A,B,D.C,E
2.B,A.C.D,E
3.E.C.D,A,B
4.C.,D.A,B.E
1) 1
) 2
(3) 3

(4) 4

1[Option ID=25009] Question Description : visual_arts_visul arts_set 1_english_q78
2[Option ID=25010]
3[Option ID=25011]
4[Option ID=25012]

Sl. No.79
QBID:179079

Select the chronology of the following artists.

A. Nandlal Bose

B. MLA. R. Chugtai
C. Sunayani Devi
D. Mukul Dey

Choose the correct answer from the options given below :

1.A,C,B,D
2. C.A BT
3.B,A,C.D
4.D,B,A,.C

)1

(2) 2

(3) 3

(4) 4




Rl SATPRI BT BIAPHITHR 99 BN -
A FGaa g

B@EWW
C. g it

D.pu S
i 4T T fasedl & U gl SR &1 94 Bifolt -

A.C.B,D

b=

.C,A,B.D
.B.A,C.D
D,B.A,C

e g

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25013] Question Description : visual_arts_visul arts_set 1_english_q79
2[Option ID=25014]

3[Option ID=25015]
4[Option ID=25016]

Sl. No.80
QBID:179080

Select the chronology of the following Axrtists.

A. Amarnath Sahgal
B. Ramkinker Baij

C. Dhanraj Bhagat

D. Shankho Chaudhry

Choose the correct answer from the options given below :

1.A.C.B.D
2.CA B D
3.B.C.D.A
4.B.D.C.A
1) 1
(2) 2
(3) 3
(4) 4

i PATBRI Bl PP HIIAR I B

A. SFRATY FETa
B. THGEHT &5
C. Y=RTS YT
D. Ziat Fied

i fqu Ty fadedl o U Il SR ©1 949 Bl -

A.C.B.D

[

.C,A,B.D
:B,C,D,A
B,D.C, A

e Laa

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25017] Question Description : visual_arts_visul arts_set 1_english_q80
2[Option ID=25018]

3[Option ID=25019]
4[Option ID=25020]




Sl. No.81
QBID:179081

Select the chronology of the following sculptors

A. Pablo Picasso

B. Michelangelo

C. Lorenzo Ghilberti
D. Donatello

Choose the correct asnwer from the options given below :

FafaRad gideR] &1 DA HITuR 90 o ;

A, Tiear U@
B. Hg&d Uordl
c. are foafd
D. SHTCTr

Hid f4u U fadedl § ¥ 9gl 3R &1 994 Hifof

1[Option ID=25021] Question Description : visual_arts_visul arts_set 1_english_q81
2[Option ID=25022]
3[Option ID=25023]
4[Option ID=25024]

Sl. No.82
QBID:179082

Arrange the Aritsts in chronological sequence

A. Krishna Reddy

B. Raja Ravi Verma

C. R. M. Palaniappan

D. Gaganendranath Tagor
E. K. Laxma Goud

Choose the correct answer from the options given below :

.D,B.E,A,C

S e
O W
How
By
D mm
= 0N




Al SR B HIAHHTIR HHIGY DX -

A PG
B. a7 ¥fa 4t

C. R.UH. GaH T
D. THEAY 2R
E. . GeAT S

Hid f4U 710 fadedl § ¥ 98l 3R &1 99 Sifol

.D,B.E,A,C

1
2

B
nwp

Mo w
BeU
O
=00

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25025] Question Description : visual_arts_visul arts_set 1_english_q82
2[Option ID=25026]

3[Option ID=25027]
4[Option ID=25028]

Sl. No.83
QBID:179083

Choose the correct sequence in regard to the lithography process....

A. Gumming the stone
B. Proofing

C. Grinding the stone
D. Drawing on the stone
E. Printing

Choose the correct answer from the options given below :

.C,D.A,B.E

(4) 4

et ufthar & Yo § 9et e &l 9g &Y -

A. TR TR 71§ AT
B. Yt

C. GRR &I U1

D. TR R faart
E. flifém

414 fau 71 fasedl § § 9El SR &1 90 SDIfoI -




1[Option ID=25029] Question Description : visual_arts_visul arts_set 1_english_q83
2[Option ID=25030]
3[Option ID=25031]
4[Option ID=25032]

Sl. No.84
QBID:179084

Cronology of Indian Painting

A. Company School
B. Pahadi

C. Rajasthani

D. Jain miniature

Choose the correct answer from the options given below :

(4) 4

YR TESHa & HIashH

A DUH A
B. UgTS!

C. ISR
D. o fafHT=R

Hid U 1T fadedl § O ol 3R &1 994 Sifol

.D,C.B,A

1
2

nos
g Ne!
W w
Uoug

e L

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25033] Question Description : visual_arts_visul arts_set 1_english_q84
2[Option ID=25034]

3[Option ID=25035]
4[Option ID=25036]

Sl. No.85
QBID:179085

Choose the correct order based on chronology

A. Stone henge ca . 2550-1600 BCE

B. Ziggurat, Ur , Iraq Ca. 2100 BCE

C. Hall of Bulls, Lascaux Ca. 15.000 - 13.000 BCE
D. Venus of willendorf Ca. 28.000-25,000 BCE

Choose the correct answer from the options given below :




FHTATHH & YR TR el HH BT 99 D

A. T &5 1T 2550-1600 d14TS,

B. fSTR4, SR, 5U® 9 2100 dRfE

C. gid {1 g, ArgeHad |U. 15,000-13,000 dHTg
D. B9 3% fde= sih v 28,000-25000 SRS

i 4T T fasedl & U gl SR &1 94 Bifolt -

1.A,B,D.C
2.C,D,A,B
D, EAB
.B,D,A,C

=

C.
D.

= L

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25037] Question Description : visual_arts_visul arts_set 1_english_q85
2[Option ID=25038]

3[Option ID=25039]
4[Option ID=25040]

Sl. No.86
QBID:179086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Ideas are soul of Advertising

Reason R : Only Advertisement with good ideas are successful when published.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

1) 1
) 2

3) 3

@) 4

9 A FUAGU MU S : TP B YT (Assertion A) & ¥ H [IREd g T g8 3P BRI (Reason R) P
qul

DY A - fITo &1 e fIER © |

FRUTR : IR B TR (@aa) = fGaR] o = Iwa g g |

IR DY & liP, A 3T MU f[dmedi T I Tl IR &1 994 Pifod ;

A IRRIATTUE IR R AT TE TRAT S

A MR REH U €, BT R, A DT U8 IR Tl ©
ATIR. APIR I
AT E, AP RITE

1) 1

2 2

@) 3

(4) 4

da L b2

1[Option ID=25041] Question Description : visual_arts_visul arts_set 1_english_q86
2[Option ID=25042]
3[Option ID=25043]
4[Option ID=25044]

Sl. No.87
QBID:179087




Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Mixed media sculpture is the combinnation of different meterials.

Reason R : Bronze is the combination of different metals. so bronze sculptures may be treated as mixed media
scalptures.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correet but R is correct
(1) 1
(2) 2
3) 3
(4) 4

9 QA FUF RU MU S : TP B YT (Assertion A) T ¥ H [IREd ¢ T G¥RI SUP BRI (Reason R) P
quf

iy A - s aregw gidean faftes amial &1 By gas |

BRUIR : 7o fafoe uTsii &1 afHsor i & Sy s o s a1y gidee am & et |
SRIF FUA P AP, -ild (4T T [dFHedl H I Tl 3R & 99 DIl -

A IRREH U E IR R AD Gel URAT &

. A 3R R M A B, AT R, A B TSI R TS &
AGIE, AfPTR ITTE
AT L. APTIRTT

e ]

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=25045] Question Description : visual_arts_visul arts_set 1_english_q87
2[Option ID=25046]

3[Option ID=25047]
4[Option ID=25048]

Sl. No.88
QBID:179088

Given below are two statements : One 1s labelled as Assertion A and the other 15 labelled as Reason R

Assertion A : Edward Munch painted many paintings related to the helplessness of human being infornt of death.
Reason R : Munch did not face any major mishappening in his family.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is NOT the correct explanation of A
Al is correct but R is not correct

. A is not correct but R is correct

(1) 1

2) 2

3) 3

(4) 4

4 QA HUA GU MU S : U IMBYT (Assertion A) & ¥ H [IREd ¢ T GO SUP BRUI (Reason R) P
_Fqﬁ

SHfHYF A : USTS 4 A Jo & GHJE H1-d &1 [aasrdl o1 31 ol J gford fear g |
BRUR : Hb o 30 URAR ¥ Blg 431 3! P GHIEd! ol 1ba1 AT |

SRIT FUA P HAID, -ild (4T U [dFHedl 5 I Tl 3R & 99 DIl -

 AIRREA U E IR R AD Gl URAT &

. A SRR M AT, AP R, A B &I AR TS B
AGIE, AT R ITTE

AT, AfPTrRITE

Wb =

e




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25049] Question Description : visual_arts_visul arts_set 1_english_q88
2[Option ID=25050]

3[Option ID=25051]
4[Option ID=25052]

Sl. No.89
QBID:179089

Given below are two statement :

Statement I : Hindu king Harishena of the Vakataka dynashy along with members of his court patronised the
caves at Ajanta.

Statement IT : The Site of Ajnta is dedicated to Buddism, Hindusim and JTainism.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statment IT are true

. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I 1s false but Statment II is true

(1) 1
(2) 2
3) 3
(4) 4

FE S P RRU MU T : U HUBUT (Assertion A) F FU H [AfEd § I g8 3UD PRI (Reason R) B
F0H;

o =

e L

DY A : TIPTED IS D {575 IS GRIAT b HIY-H1Y FHD | ITHHT D S| GRT 3=l Bi
13T BT HREFUT feba o |

BRUIR : 3o B VT 91, 65 U3 oI & Yniaaiea $I garid [odl T g |

SRIT FUA P HTAID, -ild (4T U [dFHedl H I Tl 3R & 99 HIfur -

A IRREA U E IR R AD Gel URAT &

. A 3R R M A, AT R, A BT ST AR TS B
AGIE, AT R ITTE

AEIE. APTRIT

1 1
) 2
(3) 3
(4) 4

e Lo kD

1[Option ID=25053] Question Description : visual_arts_visul arts_set 1_english_q89
2[Option ID=25054]
3[Option ID=25055]
4[Option ID=25056]

Sl. No.90
QBID:179090

Given below are two statements : one is laballed as Assertion a and the other is labelled as Reason R

Assertion A : The term 'Gothic' was conied by Renaissance architect in order to portray their predecessors as
'Goths' or barbarians.

Reason R : The term is applied to architecture using pointed arches, rib valts and flying buttresses between
12t o 15t century.

In the lihgt of the above statments, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is NOT the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

S R S I




1 1
(2) 2
(3) 3
(4) 4

2 S P RRU MU E : U HUBUT (Assertion A) F ¥ H [Af@d § dl gHI SUD PRI (Reason R) B
qul

SHIUHYUA A - TG ARG §RT 30 Tdoll i 1158 el SRARTTYH Wdd PR g 1Y% RTeg &1 W
fopar T ot |

SRUIR : 59 X8 DI 1201 T 1501 XaTeg] 0@ Ulges e, R dlecd U4 et 92339 & JanT &2
ardfds o uged fearmar o |

I DY & 3cliP, Aid 4T 7Y f[dheyl T I Tel IR B 994 o :

. ASRRIT TUE 3R R, AT TS TN

A IR R IA GAE, AP R, A DI U8 RSN Tal &
AT S, APTR 3T
AR, AT RITE

1) 1

2) 2

3) 3

) 4

da L b2

1[Option ID=25057] Question Description : visual_arts_visul arts_set 1_english_q90
2[Option ID=25058]
3[Option ID=25059]
4[Option ID=25060]

Sl. No.91
QBID:179091




The relief was created to celebrate the victory of the king.

1. Narasimmha varman-I
2. Mahendra Varman-I
3. Mahendra Varman-II
4. Simhavarman-I

(1) 1

) 2

3) 3

(4) 4

R o1 =1 3w & f[dodicad & S9ae § &1 Tl

1. Rf¥g a1
2. Ho% gHA-I
3. Ho=g gH--11
4. Rig g

1) 1

(2) 2

3) 3

4) 4

1[Option ID=25061] Question Description : visual_arts_visul arts_set 1_english_q91
2[Option ID=25062]




3[Option ID=25063]
4[Option ID=25064]

Sl. No.92
QBID:179092

The monument is located in

1. Kanchipuram

2. Tiruchirapalli
3. Mahabalipuram

4. Vijayanagara
(1) 1
(2) 2
(3) 3
(4) 4

RS R E -
1. HIHIYRH
2. fawageit
3. HETETigRH
4. fosgR
1

) 2
3) 3
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1[Option ID=25065] Question Description : visual_arts_visul arts_set 1_english_q92
2[Option ID=25066]
3[Option ID=25067]
4[Option ID=25068]

Sl. No.93
QBID:179093

The relief i1s made during which dynasty ?

1. Pandya

2. Pallava

3. Chalukya
4, Rashtrakuta

1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=25069] Question Description : visual_arts_visul arts_set 1_english_q93
2[Option ID=25070]

3[Option ID=25071]
4[Option ID=25072]

Sl. No.94
QBID:179094

Descent of Ganga is also known as

1. Siva's penance
2. Ravan's Penance
3. Gift of Bhagiratha
4. Arjuna's Penance
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25073] Question Description : visual_arts_visul arts_set 1_english_q94
2[Option ID=25074]

3[Option ID=25075]
4[Option ID=25076]

Sl. No.95
QBID:179095

Name the stone used for the carving of the relief Sculpture

1. Sand stone

2. Granite

3. Marble

4. Chlorite Stone
(1) 1




(2) 2
3) 3
(4) 4
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1[Option ID=25077] Question Description : visual_arts_visul arts_set 1_english_q95
2[Option ID=25078]
3[Option ID=25079]
4[Option ID=25080]

Sl. No.96
QBID:179096




D o
OULIN ROUGE BA "

LA GOULUE

—r
e i

OULIN ROUBE ConcerT
DULINROUEE g ot

OULIN ROUGE s ... sons

LA GOULUE

—

i




Which style of art - movement is represented by this art work.

. Swiss art movement
. German art nouveau
. French art nouveau
. British art nouveau

(1) 1
(2) 2
(3) 3
(4) 4
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2[Option ID=25082]
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4[Option ID=25084]

Sl. No.97
QBID:179097
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Who 1s the ereator of this art work

1. Aubrey Beardsley
2. Charles Ricketts
3. William morris
4. Toulouse - Lautrec
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25085] Question Description : visual_arts_visul arts_set 1_english_q97
2[Option ID=25086]
3[Option ID=25087]
4[Option ID=25088]

Sl. No.98
QBID:179098
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This artwork was created in the year

. 1819
. 1981
. 1891
. 1829
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25089] Question Description : visual_arts_visul arts_set 1_english_q98
2[Option ID=25090]
3[Option ID=25091]
4[Option ID=25092]

Sl. No.99
QBID:179099




D o
OULIN ROUGE BA "

LA GOULUE

—r
e i

OULIN ROUBE ConcerT
DULINROUEE g ot

OULIN ROUGE s ... sons

LA GOULUE

—

i




This artwork dipicts which of the following

. Actor

. Circus
. Dancer
. Jocker
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=25093] Question Description : visual_arts_visul arts_set 1_english_q99
2[Option ID=25094]

3[Option ID=25095]
4[Option ID=25096]

Sl. No.100
QBID:179100
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This artwork was created using which of the following reproduction technique.

. Offzet

. Letterpress

. Lithography
. Grauvure
(1) 1

(2) 2

3) 3

(4) 4
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